

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Page 1/1

No. 199064996 of 09.10.2025 (please always refer to this number)

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no.:

Shipping type

US:Ground

Terms of delivery:

EXW SEA FREIGHT

GF USA STOCK PROPOSAL -CPVC and PVC SCH80 (Pipe & Fittings)

*3.1 CERTIFICATE REQUIRED

*3.1 CERTIFICATE REQUIRED

Coli	Package	Gross weight	Dimensions	
PACKE	D W/199065019 GFS CARTON	0,000	0.000 x 0.000 x 0.000	- 2

Total weight: Gross

67,780 LB

Net

67,780

Total no of colis:

Coli	Package	Material Description	Gross Weight(LB) Qty		Dimensions (INH) Your order no	
I	Deliv pos				Our order / pos	
PACKED W	/199065019	GFS CARTON	0,000		0.000 x 0.000 x 0.000	
	0010	9801532		6,00 EA	2025142966	
		6x4 CPVC80 Tee	(SxSxS)	·	50655969 / 0520	
		Commodity Code	•			
	0020	829338		5.00 EA	2025142966	
		3x2 PVC80 Coup	lina (SxS)	•	50655969 / 2090	
		Commodity Code				

GF Industrial Group Americas 7777 Sloane Drive

Little Rock, AR 72206 UNITED STATES OF AMERICA



Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Page 1/4

No. 199065019 of 09.10.2025 (please always refer to this number)

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no.:

Shipping type

US:Ground

Terms of delivery:

EXW SEA FREIGHT

*3.1 CERTIFICATE REQUIRED

*3.1 CERTIFICATE REQUIRED

Coli	Package	Gross weight	Dimensions
COLIS 0	1 FITTINGS GFS PALLET - FITTING	497,000	45.000 x 45.000 x 53.000
-	2 FITTINGS GFS PALLET - FITTING	506,000	45.000 x 45.000 x 51.000
	3 FITTINGS GFS PALLET - FITTING	577,000	45.000 x 45.000 x 53.000
	4 FITTINGS GFS PALLET - FITTING	563,000	45.000 x 45.000 x 53.000
	5 FITTINGS GFS PALLET - FITTING	615,000	45.000 x 45.000 x 53.000
	6 FITTINGS GFS PALLET - FITTING	664,000	45.000 x 45.000 x 53.000
	7 FITTINGS GFS PALLET - FITTING	709,000	45.000 x 45.000 x 53.000

Total weight: Gross

4.131,000 LB

Net

3.648,211

Total no of colis:

7

Coli	Package	Material	Gross Weight(LB)		Dimensions (INH) Your order no
	Deliv pos	s Description	,	Qty	Our order / pos
COLIS 01 F	ITTINGS	GFS PALLET - FITTING	497,000		45.000 x 45.000 x 53.000
	0010	829100		62,00 EA	2025143119
		10" PVC80 Coupling	(SxS)		50657894 / 0020
		Commodity Code: 39			
	0020	837532		37,00 EA	2025143119
		6x4 PVC80 Redu Bu	shing (SPGxS)		50657894 / 0030
		Commodity Code: 39	• ,		
	0030	9806015		78,00 EA	2025143119
		1-1/2" CPVC80 90 EI	I (SxS)		50657894 / 0040
		Commodity Code: 39	• •		
	0050	837628		38,00 EA	2025143119
		-		•	



Page 2/4

--- Packing list - continuation --- No. 199065019 of 15.10.2025

Coli	Package	Material Gross Weigh	t(LB)		Dimensions (INH) Your order no
	Deliv pos	Description	Qty		Our order / pos
		10x8 PVC80 Redu Bushing (SPGxS)		50657894 / 0110
		Commodity Code: 391740000			0000.001.01.0
COLIS 02 F	ITTINGS		6,000		45.000 x 45.000 x 51.000
	0110	837339	39,00 E	FΑ	2025143119
		3x2-1/2 PVC80 Redu Bushing			50657894 / 0260
		Commodity Code: 391740000			0000700470200
	0120	829040	31,00 [=Δ	2025143119
		4" PVC80 Coupling (SxS)	01,00	_, ,	50657894 / 0270
		Commodity Code: 391740000	10		3003703470270
	0130	817100	21,00 E	=Δ	2025143119
	0.00	10" PVC80 45 EII (SxS)	21,00 1	_^	50657894 / 0290
		Commodity Code: 391740000	00		3003769470290
	0140	801292	20,00 E	= ^	2025142440
	0140	2-1/2x2 PVC80 Tee (SxSxS)	20,00 6	=A	2025143119
		Commodity Code: 391740000	00		50657894 / 0300
COLIS 03 F	TTINGS (45,000, 45,000, 50,000
20LI3 03 I			7,000	- 4	45.000 x 45.000 x 53.000
	0210	837422	8,00 E	= A	2025143119
		4x3 PVC80 Redu Bushing (SI			50657894 / 0410
	0000	Commodity Code: 391740000			
	0220	801040	7,00 E	ΞA	2025143119
		4" PVC80 Tee (SxSxS)			50657894 / 0420
		Commodity Code: 391740000			
	0230	817060	4,00 E	ΞA	2025143119
		6" PVC80 45 Ell (SxS)			50657894 / 0430
		Commodity Code: 391740000			
	0240	837249	4,00 E	EΑ	2025143119
		2x1 PVC80 Redu Bushing (SF			50657894 / 0440
		Commodity Code: 391740000	0		
	0250	806025	2,00 E	ΞA	2025143119
		2-1/2" PVC80 90 EII (SxS)			50657894 / 0460
		Commodity Code: 391740000	0		
	0260	806030	2,00 E	EΑ	2025143119
		3" PVC80 90 EII (SxS)			50657894 / 0470
		Commodity Code: 391740000	0		
	0270	817025	2,00 E	ĒΑ	2025143119
		2-1/2" PVC80 45 Ell (SxS)	,		50657894 / 0480
		Commodity Code: 391740000	0		
	0280	9853040	2,00 E	ĒΑ	2025143119
		4" CPVC80 Blind Flange	_,		50657894 / 0500
		Commodity Code: 391740000	0		1111.1017.000
	0290	9854015	1,00 E	ĒΑ	2025143119
		1-1/2" CPVC80 Van-Stone Fla		`	50657894 / 0510
		Commodity Code: 391740000			0000100710010
	0300	9851030	15,00 E	-Δ	2025143119
		3" CPVC80 Flange - One Pied		-/ T	50657894 / 0520
		3 S. FOSSI Jange One He	,		JUGJ I 034 / UJZU



Page 3/4

--- Packing list - continuation ---

No. 199065019 of 15.10.2025

Coli Package		Gross Weight(LB)	01		Dimensions (INH) Your order no
Deliv po	s Description		Qty		Our order / pos
COLIS 04 FITTINGS	GFS PALLET - FITTING	563,000			45.000 x 45.000 x 53.000
0060	9897375010	200,220	20,00	EA	2025143119
0000	1" CPVC80 TYPE 3	75 Union EPDM (S	-		50657894 / 0120
	Commodity Code: 3		,		
0070	847080		89,00	EA	2025143119
	8" PVC80 Cap (S)				50657894 / 0160
	Commodity Code: 3	917400000			
0080	9806040		127,00	EA	2025143119
	4" CPVC80 90 EII (\$	SxS)			50657894 / 0180
	Commodity Code: 3				
0090	854025		177,00	EA	2025143119
	2-1/2" PVC80 Van-9		·		50657894 / 0230
	Commodity Code: 3				
COLIS 05 FITTINGS	GFS PALLET - FITTING	615,000			45.000 x 45.000 x 53.000
0040	9806020		338,00	EA	2025143119
	2" CPVC80 90 EII (\$	SxS)			50657894 / 0100
	Commodity Code: 3	•			
0100	829030		57,00	EA	2025143119
	3" PVC80 Coupling	(SxS)			50657894 / 0250
	Commodity Code: 3	917400000			
0310	37X009208		1,00	EA	2025143119
	EN 10204-3.1 Inspe	ection Certificate F	ee		50657894 / 0530
COLIS 06 FITTINGS	GFS PALLET - FITTING	664,000			45.000 x 45.000 x 53.000
0150	801292		20,00	EA	2025143119
	2-1/2x2 PVC80 Tee	(SxSxS)			50657894 / 0310
	Commodity Code: 3	917400000			
0160	829060		15,00	EA	2025143119
	6" PVC80 Coupling	(SxS)			50657894 / 0330
	Commodity Code: 3	917400000			
0170	527701A		15,00	EA	2025143119
	1-1/2" PPFR Clean	out Adpt w/Plug(SI	PGxFT))	50657894 / 0340
	Commodity Code: 3	3917400000			
COLIS 07 FITTINGS	GFS PALLET - FITTING	709,000			45.000 x 45.000 x 53.000
0180	853040		12,00	EA	2025143119
	4" PVC80 Blind Fla				50657894 / 0360
	Commodity Code: 3	3917400000			
0190	801025		10,00	EA	2025143119
	2-1/2" PVC80 Tee (50657894 / 0370
	Commodity Code: 3	3917400000			
0200	817040		10,00	EA	2025143119
	4" PVC80 45 Ell (S:	•			50657894 / 0380
	Commodity Code: 3	3917400000			



Page 4/4

--- Packing list - continuation ---

No. 199065019 of 15.10.2025



Page 1/1

No. 199106386 of 29.10.2025 (please always refer to this number)

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no.:

US:Ground

Shipping type Terms of delivery:

EXW SEA FREIGHT

GF USA STOCK PROPOSAL -CPVC and PVC SCH80 (Pipe & Fittings)

*3.1 CERTIFICATE REQUIRED

*3.1 CERTIFICATE REQUIRED

Coli	Package	Gross weight	Dimensions	
1 20' PL	ASTIC PIPE PIPE PACK 20 F00T	5.016,000	252.000 x 43.000 x 52.000	

Total weight: Gross

5.016,000 LB

Net

Total no of colis:

4.504,940

Coli Pack	kage	Material	Gross Weight(LB)		Dimensions (INH) Your order no
Deliv	v pos	Description	, , , , , , , , , , , , , , , , , , , ,	Qty	Our order / pos
1 20' PLASTIC PI	IPE PIPE	E PACK 20 F00T	5.016,000		252.000 x 43.000 x 52.000
0030)	H0800600PG2000		340,00 FT	2025142966
		6" IND PLUS PVC80	GREY PE PII	PE 20FT	50655969 / 1310
		Commodity Code: 39	917230000		
0060)	H0800200PG2000		1.660,00 FT	2025142966
		2" IND PLUS PVC80	GREY PE PII	PE 20FT	50655969 / 1340
		Commodity Code: 39	917230000		
0090)	H0800050PG2000		5.700,00 FT	2025142966
		1/2" IND PLUS PVC	80 GREY PE F	PIPE 20FT	50655969 / 1370
		Commodity Code: 39	917230000		\mathcal{O}

GF Industrial Group Americas 7777 Sloane Drive Little Rock, AR 72206

UNITED STATES OF AMERICA



Ship-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Page 1/2

No. 199068876 of 10.10.2025 (please always refer to this number)

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no .: Shipping type

US:Ground

Terms of delivery:

EXW SEA FREIGHT

*3.1 CERTIFICATE REQUIRED

*3.1 CERTIFICATE REQUIRED

Coli	Package		Gross weight	Dimensions
1 20' PL	ASTIC PIPE A	PIPE PACK 20 F00T	2.985,000	251.000 x 43.000 x 56.000
1 20' PL	ASTIC PIPE B	PIPE PACK 20 F00T	3.169,000	251.000 x 42.000 x 56.000

Total weight: Gross

6.154,000 LB 8.169,740

Net Total no of colis:

2

oli Package	Material	Gross Weight(LB)	Dimensions (INH) Your order no		
Deliv pos	Description	Qty	Our order / pos		
20' PLASTIC PIPE A	PIPE PACK 20 F00T	2.985,000	251.000 x 43.000 x 56.000		
0010	H0800800PG2000	100,00 FT	2025143119		
	8" IND PLUS PVC	8" IND PLUS PVC80 GREY PE PIPE 20FT			
	Commodity Code:	3917230000			
0020	H0800300CG2000		2025143119		
	3" ChlorFit CPVC8	30 PE PIPE 20FT	50657894 / 0050		
	Commodity Code:	3917230000			
0050	H0800200PG2000		2025143119		
	2" IND PLUS PVC	50657894 / 0210			
	Commodity Code:	3917230000			
0060	H0800250PG2000		2025143119		
	2-1/2" IND PLUS I	2-1/2" IND PLUS PVC80 GREY PE PIPE 20FT			
	Commodity Code:	3917230000			
20' PLASTIC PIPE B	•		251.000 x 42.000 x 56.000		
0030	H0800300PG2000	1.120,00 FT	2025143119		
		80 GREY PE PIPE 20FT	50657894 / 0190		





Page 2/2

--- Packing list - continuation ---

No. 199068876 of 17.10.2025

Coli	Package	Material	Gross		Dimensions (INH) Your order no Our order / pos
	Deliv pos	Description	Weight(LB) Qty		
		Commodity Code:	3917230000		
	0040	H0800600PG2000		500,00 FT	2025143119
		6" IND PLUS PVC	80 GREY PE PIPE	₹ 20FT	50657894 / 0200
		Commodity Code:	3917230000		



Ship-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Page 1/1

No. 199067776 of 10.10.2025 (please always refer to this number)

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no.: Shipping type

US:Ground

Terms of delivery:

EXW SEA FREIGHT

SEA SHIPMENT FOR VEOLIA WATER SYSTEMS SO.2514500382 PR-2025113403-2025113406-2025113409

Coli	Package			Gross weight	Dimensions
1 10' PL	ASTIC PIPE PIP	E 10 F00T BOX		59,000	140.000 x 10.000 x 13.000
Total we	eight: Gross	59,000 LB			
	Net	14,000			
Total no	o of colis:	1			
Colí	Package	Material	Gross Weight(LB)		Dimensions (INH) Your order no
	Deliv pos	Description		Qty	Our order / pos

140.000 x 10.000 x 13.000 1 10' PLASTIC PIPE PIPE 10 F00T BOX 59,000 10,00 FT 2025143176 0010 37A013040 50658092 / 0030 4" PPFR40 Fuseal Pipe x 10 ft Commodity Code: 3917220000



Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Page 1/1

No. 199065040 of 09.10.2025 (please always refer to this number)

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no.:

Shipping type

US:Ground

Terms of delivery:

EXW SEA FREIGHT

*3.1 CERTIFICATE REQUIRED

*3.1 CERTIFICATE REQUIRED

Coli	Package			Gross weight	Dimensions
1 10' PLAS	STIC PIPE PIPE	10 F00T BOX		120,000	140.000 x 10.000 x 13.000
Total weig	ght: Gross Net of colis:	120,000 LB 75,600 1			
Coli	Package Deliv pos	Material Description	Gross Weight(LB)	Qty	Dimensions (INH) Your order no Our order / pos
1 10' PLA	STIC PIPE PIPE 0010	10 F00T BOX 37A013015 1-1/2" PPFR40 Ft Commodity Code	•	210,00 FT	140.000 x 10.000 x 13.000 2025143119 50657894 / 0220

GF Industrial Group Americas 7777 Sloane Drive Little Rock, AR 72206

UNITED STATES OF AMERICA



Sold-to:

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Page 1/ 2 Reference: 2102679185 of30.10.2025

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer 109142

Delivery-No. 199106386 Delivery date 30.10.2025 Your PO No. 2025142966 Order-No. 50655969 Order date 26.09.2025

Incoterms EXW SEA FREIGHT

Your Order Date 23.09.2025

Your Pur.Ord. Ship-to GF USA STOCK PROPOSAL -CPVC and PVC

Tracking Number EBKG14678460

Terms of delivery EXW From plant SEA FREIGHT

Mode of transport US:Ground

Terms of payment NET WITHIN 90 DAYS FROM DATE OF INVOICE

GF USA STOCK PROPOSAL -CPVC and PVC SCH80 (Pipe & Fittings)

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	H0800600PG2000 * 6" Industrial Plus PVC80 GREY F Non cancelable/Non returnable Old item no.: 0800600-PG-2000 Tariff no.: 3917230000 Origin: US	340 FT E PIPE 2			9,26	3.148,40
20	Tracking No. EBKG14678460 H0800200PG2000 * 2" Industrial Plus PVC80 GREY F Non cancelable/Non returnable	1.660 FT PE PIPE 2			1,66	2.755,60

Old item no.: 0800200-PG-2000

Tariff no.: 3917230000

Origin: US

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Reference: 2102679185 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
30	Tracking No. EBKG14678460 H0800050PG2000 * 1/2" Industrial Plus PVC80 GREN Non cancelable/Non returnable Old item no.: 0800050-PG-2000 Tariff no.: 3917230000 Origin: US	5.700 FT PE PIPE			0,37	2.109,00
	Tracking No. EBKG14678460					
	Net sales amount	Net sales amount			8.013,00	
-	TOTAL AMOUNT	USD				8.013,00

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904
Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294
Email: IrvineAR@georgfischer.com



Sold-to:

GF Corvs Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Page 1/ Reference: 2102679184 of30.10.2025 2

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer

109142

Delivery-No.

199068876 Delivery date

30.10.2025

Your PO No.

2025143119

Order-No. Incoterms 50657894 Order date EXW SEA FREIGHT

08.10.2025

Your Order Date Tracking Number 04.10.2025

EBKG14678460

Terms of delivery

EXW From plant SEA FREIGHT US:Ground

Mode of transport

Terms of payment

NET WITHIN 90 DAYS FROM DATE OF INVOICE

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	H0800800PG2000 * 8" Industrial Plus PVC80 GREY PE Non cancelable/Non returnable Old item no.: 0800800-PG-2000 Tariff no.: 3917230000 Origin: US	100 FT PIPE 2			13,95	1.395,00
20	Tracking No. EBKG14678460 H0800300CG2000 * 3" ChlorFit CPVC80 PE PIPE 20FT	940 FT			7,11	6.683,40

Non cancelable/Non returnable Old item no.: 0800300-CG-2000

Tariff no.: 3917230000

Origin: US

Tracking No. EBKG14678460

Visit www.gfps/us for our Terms and Conditions. Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toil Free (800)854-4090, Fax(714)731-8294 Email: IrvineAR@georgfischer.com



Reference: 2102679184 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit	Discount Surcharges	Net.Price /Unit	Net value USD
30	H0800300PG2000 * 3" Industrial Plus PVC80 GREY Non cancelable/Non returnable Old item no.: 0800300-PG-2000 Tariff no.: 3917230000 Origin: US	1.120 FT PE PIPE 2			3,34	3.740,80
40	Tracking No. EBKG14678460 H0800600PG2000 *6" Industrial Plus PVC80 GREY Non cancelable/Non returnable Old item no.: 0800600-PG-2000 Tariff no.: 3917230000 Origin: US	500 FT PE PIPE 2			9,26	4.630,00
50	Tracking No. EBKG14678460 H0800200PG2000 * 2" Industrial Plus PVC80 GREY I Non cancelable/Non returnable Old item no.: 0800200-PG-2000 Tariff no.: 3917230000 Origin: US	500 FT PE PIPE 2			1,66	830,00
60	Tracking No. EBKG14678460 H0800250PG2000 * 2-1/2" Industrial Plus PVC80 GR Non cancelable/Non returnable Old item no.: 0800250-PG-2000 Tariff no.: 3917230000 Origin: US	80 FT EY PE PI			2,73	218,40
	Tracking No. EBKG14678460					
	Net sales amount					17.497,60

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Sold-to:

GF Corvs Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Page 1/ Reference: 2102679183 of30.10.2025 2

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345 Street 60 Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer 109142

Delivery-No. Your PO No.

2025143176 Order-No. Incoterms

30.10.2025 199067776 Delivery date Order date 09.10.2025 50658092 EXW SEA FREIGHT

Your Order Date 09.10.2025 Your Pur.Ord. Ship-to 2514500382 Tracking Number EBKG14678460

Terms of delivery

EXW From plant SEA FREIGHT

Mode of transport

US: Ground

Terms of payment NET WITHIN 90 DAYS FROM DATE OF INVOICE

SEA SHIPMENT FOR VEOLIA WATER SYSTEMS SO.2514500382 PR-2025113403-2025113406-2025113409

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	37A013040 * 4" PPFR40 Fuseal Pipe x 10 ft Non cancelable/Non returnable Old item no.: F8004040AA Tariff no.: 3917220000 Origin: US	10 FT			7,08	70,80
	Tracking No. ⊞KG14678460					
	Net sales amount					70,80
_	TOTAL AMOUNT	USD				70,80

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Reference: 2102679183 of30.10.2025

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904
Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294
Email: IrvineAR@georgfischer.com



2

Commercial Invoice

GF Corys Piping Systems L.L.C

Page 1/ Reference: 2102679180 of30.10.2025

Ship-to

GF Corys Piping Systems L.L.C

PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1

UAE

Bill-to:

UAE

Sold-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

PO Box 2345, Street 60, Community 598

00000 DUBAI INVESTMENT PARK 1

Customer

109142

Delivery-No.

199064996 Delivery date

30.10.2025

Your PO No.

2025142966

Order-No. Incoterms

50655969 Order date EXW SEA FREIGHT

26.09.2025

Your Order Date

23.09.2025

Tracking Number

Your Pur.Ord. Ship-to GF USA STOCK PROPOSAL -CPVC and PVC EBKG14678460

Terms of delivery

Mode of transport

EXW From plant SEA FREIGHT

US:Ground

Terms of payment

NET WITHIN 90 DAYS FROM DATE OF INVOICE

GF USA STOCK PROPOSAL -CPVC and PVC SCH80 (Pipe & Fittings)

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	9801532 6x4 CPVC80 Tee (SxSxS) Tariff no.: 3917400000 Origin: US	6 EA			110,01	660,06
20	Tracking No. EBKG14678460 829338 3x2 PVC80 Coupling (SxS) Tariff no.: 3917400000 Origin: US	5 EA			11,03	55,15
	Tracking No. EBKG14678460					

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Reference: 2102679180 of30.10.2025

Net sales amount

715,21

TOTAL AMOUNT

USD

715,21

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions. Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294 Email: IrvineAR@georgfischer.com



Sold-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Page 1/ Reference: 2102679182 of30.10.2025

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBALINVESTMENT PARK 1 UAE

Customer

109142

Your PO No.

Delivery-No.

199065040 Delivery date

30.10.2025

2025143119

Order-No. Incoterms

Order date 50657894 EXW SEA FREIGHT

08.10.2025

Your Order Date Tracking Number 04.10.2025

US:Ground

EBKG14678460

Terms of delivery

EXW From plant SEA FREIGHT

Mode of transport

Terms of payment

NET WITHIN 90 DAYS FROM DATE OF INVOICE

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	37A013015 * 1-1/2" PPFR40 Fuseal Pipe x 10 ff Non cancelable/Non returnable Old item no.: F8004015AA Tariff no.: 3917220000 Origin: US	210 FT i			2,15	451,50
	Tracking No. EBKG14678460					
	Net sales amount					451,50
_	TOTAL AMOUNT	USD				451,50

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904

Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



5

Commercial Invoice

Page 1/ Reference: 2102679181 of30.10.2025

Sold-to:

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer

109142

Delivery-No.

199065019 Delivery date

30.10.2025

Your PO No.

2025143119

Order-No.

50657894 Order date

EXW SEA FREIGHT

08.10.2025

Your Order Date Tracking Number

04.10.2025

EBKG14678460

Terms of delivery

EXW From plant SEA FREIGHT

Mode of transport

Terms of payment

US:Ground

NET WITHIN 90 DAYS FROM DATE OF INVOICE

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	829100 10" PVC80 Coupling (SxS) Tariff no.: 3917400000 Origin: US	62 EA			91,65	5.682,30
20	Tracking No. EBKG14678460 837532 6x4 PVC80 Redu Bushing (SPGxS) Tariff no.: 3917400000 Origin: US	37 EA			15,65	579,05
30	Tracking No. EBKG14678460 9806015 1-1/2" CPVC80 90 EII (SxS) Tariff no.: 3917400000 Origin: US	78 EA			5,03	392,34

Email: IrvineAR@georgfischer.com



Page 2/ Reference: 2102679181 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
40	Tracking No. EBKG14678460 9806020 2" CPVC80 90 Ell (SxS) Tariff no.: 3917400000 Origin: US	338 EA			6,08	2.055,04
50	Tracking No. EBKG14678460 837628 10x8 PVC80 Redu Bushing (SPGxS) Tariff no.: 3917400000 Origin: US	38 EA			89,46	3.399,48
60	Tracking No. EBKG14678460 9897375010 1" CPVC80 TYPE 375 Union EPDM Old item no.: 9897010 Tariff no.: 3917400000 Origin: US	20 EA (SxS)			6,04	120,80
70	Tracking No. EBKG14678460 847080 8" PVC80 Cap (S) Tariff no.: 3917400000 Origin: US	89 EA			58,99	5.250,11
80	Tracking No. EBKG14678460 9806040 4" CPVC80 90 EII (SxS) Tariff no.: 3917400000 Origin: US	127 EA			28,53	3.623,31
90	Tracking No. EBKG14678460 854025 2-1/2" PVC80 Van-Stone Flange (S) Tariff no.: 3917400000 Origin: US	177 EA			8,17	1.446,09
100	Tracking No. EBKG14678460 829030 3" PVC80 Coupling (SxS) Tariff no.: 3917400000 Origin: US	57 EA			7,28	414,96
110	Tracking No. EBKG14678460 837339 3x2-1/2 PVC80 Redu Bushing (SPGx Tariff no.: 3917400000 Origin: US	39 EA (S)			8,13	317,07
	Tracking No. EBKG14678460					

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com

5



5

Commercial Invoice

Page 3/ Reference: 2102679181 of30.10.2025

Pos	Code no. Description	Quar Unit		Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
120	829040 4" PVC80 Coupling (SxS) Tariff no.: 3917400000 Origin: US	31	EA			9,12	282,72
130	Tracking No. EBKG14678460 817100 10" PVC80 45 ⊟I (SxS) Tariff no.: 3917400000 Origin: US	21	EA			193,26	4.058,46
140	Tracking No. EBKG14678460 801292 2-1/2x2 PVC80 Tee (SxSxS) Tariff no.: 3917400000 Origin: US	20	EA			6,50	130,00
150	Tracking No. EBKG14678460 801292 2-1/2x2 PVC80 Tee (SxSxS) Tariff no.: 3917400000 Origin: US	20	EA			6,50	130,00
160	Tracking No. EBKG14678460 829060 6" PVC80 Coupling (SxS) Tariff no.: 3917400000 Origin: US	15	EA			19,62	294,30
170	Tracking No. EBKG14678460 527701A 1 1/2 PPFR Cleanout Adpt w/Plug(SI Old item no.: 7701A Tariff no.: 3917400000 Origin: US		EΑ Γ)			6,75	101,25
180	Tracking No. EBKG14678460 853040 4" PVC80 Blind Flange Tariff no.: 3917400000 Origin: US	12	EA			32,57	390,84
190	Tracking No. ⊞KG14678460 801025 2-1/2" PVC80 Tee (SxSxS) Tariff no.: 3917400000 Origin: US	10	EA			8,01	80,10
	Tracking No. EBKG14678460						

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Reference: 2102679181 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
200	817040 4" PVC80 45 EII (SxS) Tariff no.: 3917400000 Origin: US	10 EA			22,48	224,80
210	Tracking No. EBKG14678460 837422 4x3 PVC80 Redu Bushing (SPGxS) Tariff no.: 3917400000 Origin: US	8 EA			11,26	90,08
220	Tracking No. EBKG14678460 801040 4" PVC80 Tee (SxSxS) Tariff no.: 3917400000 Origin: US	7 EA			11,60	81,20
230	Tracking No. EBKG14678460 817060 6" PVC80 45 EII (SxS) Tariff no.: 3917400000 Origin: US	4 EA			28,31	113,24
240	Tracking No. EBKG14678460 837249 2x1 PVC80 Redu Bushing (SPGxS) Tariff no.: 3917400000 Origin: US	4 EA			2,95	11,80
250	Tracking No. EBKG14678460 806025 2-1/2" PVC80 90 EII (SxS) Tariff no.: 3917400000 Origin: US	2 EA			4,85	9,70
260	Tracking No. EBKG14678460 806030 3" PVC80 90 Ell (SxS) Tariff no.: 3917400000 Origin: US	2 EA			5,45	10,90
270	Tracking No. EBKG14678460 817025 2-1/2" PVC80 45 Ell (SxS) Tariff no.: 3917400000 Origin: US	2 EA			10,26	20,52
	Tracking No. EBKG14678460					

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Page 5/ Reference: 2102679181 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
280	9853040 4" CPVC80 Blind Flange Tariff no.: 3917400000 Origin: US	2 EA			39,31	78,62
290	Tracking No. EBKG14678460 9854015 1-1/2" CPVC80 Van-Stone Flange Tariff no.: 3917400000 Origin: US	1 EA (S)			6,98	6,98
300	Tracking No. EBKG14678460 9851030 3" CPVC80 Flange - One Piece (S Tariff no.: 3917400000 Origin: US	15 EA)			29,33	439,95
310	Tracking No. EBKG14678460 37X009208 EN 10204-3.1 INSPECTION CERTIF Non cancelable/Non returnable	1 EA FICATE FEE			200,00	200,00
	Tracking No. ⊞KG14678460					
	Net sales amount					30.036,01
-	TOTAL AMOUNT	USD				30.036,01

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.
Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904
Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Page 1/1

No. 198978517 of 27.08.2025 (please always refer to this number)

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no .:

Shipping type

US:Ground

Terms of delivery:

EXW SEA FREIGHT

Coli	Package	Gross weight	Dimensions	
PACKE	O W/198994104 GFS CARTON	0,000	0.000 x 0.000 x 0.000	

Total weight: Gross

21,900 LB

Net

21,900

Total no of colis:

1

Coli	Package	Material	Gross Weight(LB)		Dimensions (INH) Your order no
	Deliv pos	Description	Weight(LD)	Qty	Our order / pos
PACKE	D W/198994104	GFS CARTON	0,000		0.000 x 0.000 x 0.000
	0010	9898375015	·	30,00 EA	2025141093
		1 1/2" CPVC80 T	YPE 375 Union EPE	OM (TxT)	50627911 / 0030
		Commodity Code	e: 3917400000		



Ship-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Page 1/1

No. 199073339 of 14.10.2025 (please always refer to this number)

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no.:

Shipping type

US:Ground

Terms of delivery:

EXW SEA FREIGHT

*3.1 CERTIFICATE REQUIRED

*3.1 CERTIFICATE REQUIRED

Coli	Package	Gross weight	Dimensions	
COLIS	01 FITTINGS GES PALLET - FITTING	141.000	45.000 x 45.000 x 20.000	

Total weight: Gross

141,000 LB

Net

61,704

Total no of colis:

Coli	Package	Material	Gross Weight(LB)		Dimensions (INH) Your order no
	Deliv pos	S Description	Weight(LD)	Qty	Our order / pos
COLIS 01	FITTINGS 0010	GFS PALLET - FITTING 9801020 2" CPVC80 Tee (Sx: Commodity Code: 39	•	72,00 EA	45.000 x 45.000 x 20.000 2025143119 50657894 / 0130



Page 1/2

No. 199010387 of 12.09.2025 (please always refer to this number)

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no.:

US:Ground

Shipping type
Terms of delivery:

EXW SEA FREIGHT

GF USA SEA: Week 37-2025 Bronze Traded B2B + Gold & Silver Stock Order

*3.1 CERTIFICATE REQUIRED. PLEASE STAGE MATERIAL ACCORDINGLY.

*3.1 CERTIFICATE REQUIRED. PLEASE STAGE MATERIAL ACCORDINGLY.

Coli I	Package	Gross weight	Dimensions
COLIS 01 FIT	TTINGS GFS PALLET - FITTING	700,000	45.000 x 45.000 x 50.000
COLIS 02 FIT	TTINGS GFS PALLET - FITTING	511,000	45.000 x 45.000 x 46.000
COLIS 03 FIT	TTINGS GFS PALLET - FITTING	611,000	45.000 x 45.000 x 49.000

Total weight: Gross

1.822,000 LB

Net

1.492,577

Total no of colis:

3

Coli P	ackage	Material	Gross Weight(LB)			Dimensions (INH) Your order no
D	Deliv pos	Description	- 3 -()	Qty		Our order / pos
COLIS 01 FIT	TINGS GFS	PALLET - FITTING	700,000			45.000 x 45.000 x 50.000
0	010	829120		7,00	EA	2025142878
		12" PVC80 Coupling	(SxS)			50653619 / 0010
		Commodity Code: 39	17400000			
0	0020	897030		5,00	EA	2025142878
		3" PVC80 Union EPD	M (SxS)			50653619 / 0020
		Commodity Code: 39	17400000			
0	030	897030		18,00	EA	2025142878
		3" PVC80 Union EPD	M (SxS)			50653619 / 0030
		Commodity Code: 39	17400000			
0	130	37X009208		1,00	EA	2025142878
		EN 10204-3.1 Inspec	tion Certificate F	ee		50653619 / 0160
COLIS 02 FIT	TINGS GFS	PALLET - FITTING	511,000			45.000 x 45.000 x 46.000
0	040	897030		4,00	EA	2025142878



Page 2/2

--- Packing list - continuation ---

No. 199010387 of 18.09.2025

Coli F	Package	Material	Gross Weight(LB)		Dime	ensions (INH) order no
	Deliv pos	Description	Weight(LB)	Qty		order / pos
		3" PVC80 Union EP	` '		5065	3619 / 0040
_		Commodity Code: 3	917400000			
C	0060	829100		11,00 EA	2025	142878
		10" PVC80 Coupling	g (SxS)		5065	3619 / 0090
		Commodity Code: 3	917400000			
0	070	837532		2,00 EA	2025	142878
		6x4 PVC80 Redu B	ushing (SPGxS)		5065	3619 / 0100
		Commodity Code: 3	917400000			
0	120	9854040		9,00 EA	2025	142878
		4" CPVC80 Van-Sto	ne Flange (S)	•		3619 / 0150
		Commodity Code: 3				
COLIS 03 FIT	TINGS GFS	PALLET - FITTING	611.000		45.000 x 45	5.000 x 49.000
	080	9801020	. ,	15,00 EA		142878
		2" CPVC80 Tee (Sx	(SxS)	,		3619 / 0110
		Commodity Code: 3	,		5555	00.0701.10
0	090	9806015		70,00 EA	2025	142878
_		1-1/2" CPVC80 90 E	FIL(SxS)	10,00 = 1		3619 / 0120
		Commodity Code: 3	• •		3003	30137 0120
0	100	9806020	O 11 400000	280,00 EA	2025	142878
•		2" CPVC80 90 EII (\$	SvS)	200,00 LA		3619 / 0130
		Commodity Code: 3	•		3003	3013/0130
0	110	9806040	31740000	305,00 EA	2025	1/2070
U	,,,,,	4" CPVC80 90 EII (\$	2ve)	303,00 EA		142878
					5005	3619 / 0140
		Commodity Code: 3	917400000			



Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Page 1/1

No. 199007497 of 11.09.2025 (please always refer to this number)

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no.:

Shipping type US:Ground

Terms of delivery: EXW SEA FREIGHT

 Coli
 Package
 Gross weight
 Dimensions

 COLIS 01 FITTINGS
 GFS PALLET - FITTING
 266,000
 45.000 x 45.000 x 43.000

 COLIS 02 FITTINGS
 GFS PALLET - FITTING
 343,000
 45.000 x 45.000 x 44.000

Total weight: Gross

609,000 LB

Net

303,420

Total no of colis: 2

Coli Pa	ackage	Material	Gross Weight(LB)		Dimensions (INH) Your order no
De	eliv pos	Description	weight(LD)	Qty	Our order / pos
COLIS 01 FITT	TINGS	GFS PALLET - FITTING	266,000		45.000 x 45.000 x 43.000
00	010	801530FB		13,00 EA	2025141951
		6x3 PVC80 Tee (Sx			50640013 / 0010
		Commodity Code: 39	917400000		
COLIS 02 FITT	TINGS	GFS PALLET - FITTING	343,000		45.000 x 45.000 x 44.000
00	010	801530FB		13,00 EA	2025141951
		6x3 PVC80 Tee (Sx	SxS) BUSH	•	50640013 / 0010
		Commodity Code: 39	•		



Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Page 1/1

No. 198991293 of 03.09.2025 (please always refer to this number)

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no .:

US:Ground

Shipping type
Terms of delivery:

EXW SEA FREIGHT

Coli	Package	Gross weight	Dimensions	
DACKE	D W/198994104 GES CARTON	0.000	0.000 x 0.000 x 0.000	

Total weight: Gross

5,820 LB

Net

5,820

Total no of colis:

1

Coli	Package	Material	Gross Weight(LB)		Dimensions (INH) Your order no
	Deliv pos	Description		Qty	Our order / pos
PACKED	W/198994104	GFS CARTON	0,000		0.000 x 0.000 x 0.000
	0010	897030	•	2,00 EA	2025142713
		3" PVC80 Union	EPDM (SxS)		50651897 / 0010
		Commodity Code	: 3917400000		



Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Page 1/2

No. 198994104 of 04.09.2025 (please always refer to this number)

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no.:

Shipping type

US:Ground

Terms of delivery:

EXW SEA FREIGHT

3.1 CERTIFICATE REQUEST

3.1 CERTIFICATE REQUEST

Coli	Package	Gross weight	Dimensions
COLIS 0	1 FITTINGS GFS PALLET - FITT	NG 536,000	45.000 x 45.000 x 48.000
COLIS 0	2 FITTINGS GFS PALLET - FITTI	NG 455,000	45.000 x 45.000 x 49.000
COLIS 0	3 FITTINGS GFS PALLET - FITTI	NG 522,000	45.000 x 45.000 x 52.000
COLIS 0	4 FITTINGS GFS PALLET - FITT	NG 374,000	45.000 x 45.000 x 44.000

Total weight: Gross

1.887,000 LB

Net

1.625,697

Total no of colis:

4

ge Material	Gross Weight(LB)		Dimensions (INH) Your order no
oos Description	,	Qty	Our order / pos
S GFS PALLET - FITTIN	G 536,000		45.000 x 45.000 x 48.000
806080		18,00 EA	2025142666
8" PVC80 90 EII	(SxS)		50651565 / 0100
837532		2,00 EA	2025142666
6x4 PVC80 Redu	Bushing (SPGxS)	•	50651565 / 0020
	• ,		
_			45.000 x 45.000 x 49.000
837628	ŕ	2,00 EA	2025142666
10x8 PVC80 Red	lu Bushina (SPGxS	·	50651565 / 0080
		,	
829080		8.00 EA	2025142666
8" PVC80 Coupl	na (SxS)	,	50651565 / 0090
,	pos Description S GFS PALLET - FITTING 806080 8" PVC80 90 EII Commodity Code 837532 6x4 PVC80 Redu Commodity Code S GFS PALLET - FITTIN 837628 10x8 PVC80 Red Commodity Code 829080 8" PVC80 Coupli	Weight(LB) SS GFS PALLET - FITTING 536,000 806080 8" PVC80 90 Ell (SxS) Commodity Code: 3917400000 837532 6x4 PVC80 Redu Bushing (SPGxS) Commodity Code: 3917400000 SS GFS PALLET - FITTING 455,000 837628 10x8 PVC80 Redu Bushing (SPGxS) Commodity Code: 3917400000 837628 10x8 PVC80 Redu Bushing (SPGxS) Commodity Code: 3917400000 829080 8" PVC80 Coupling (SxS)	Weight(LB) Pos Description RS GFS PALLET - FITTING 536,000 806080 18,00 EA 8" PVC80 90 Ell (SxS) Commodity Code: 3917400000 837532 2,00 EA 6x4 PVC80 Redu Bushing (SPGxS) Commodity Code: 3917400000 RS GFS PALLET - FITTING 455,000 837628 2,00 EA 10x8 PVC80 Redu Bushing (SPGxS) Commodity Code: 3917400000 837628 2,00 EA 10x8 PVC80 Redu Bushing (SPGxS) Commodity Code: 3917400000 829080 8,00 EA





Page 2/2

--- Packing list - continuation ---

No. 198994104 of 05.09.2025

Coli	Package	Material	Gross		Dimensions (INH) Your order no
	Deliv pos	s Description	Weight(LB)	Qty	Our order / pos
	0070	817080		29,00 EA	2025142666
		8" PVC80 45 EII (SxS			50651565 / 0110
		Commodity Code: 39	17400000		
COLIS 03 F	ITTINGS	GFS PALLET - FITTING	522,000		45.000 x 45.000 x 52.000
	0010	806080		12,00 EA	2025142666
		8" PVC80 90 Ell (SxS	5)		50651565 / 0100
		Commodity Code: 39	17400000		
	0020	829100		5,00 EA	2025142666
		10" PVC80 Coupling	(SxS)		50651565 / 0010
		Commodity Code: 39	17400000		
	0040	9854020		90,00 EA	2025142666
		2" CPVC80 Van-Ston	e Flange (S)		50651565 / 0040
		Commodity Code: 39	17400000		
	0070	817080		17,00 EA	2025142666
		8" PVC80 45 EII (SxS			50651565 / 0110
		Commodity Code: 39	17400000		
COLIS 04 F	ITTINGS	GFS PALLET - FITTING	374,000		45.000 x 45.000 x 44.000
	0010	806080		11,00 EA	2025142666
		8" PVC80 90 Ell (SxS			50651565 / 0100
		Commodity Code: 39	17400000		
	0030	837532		86,00 EA	2025142666
		6x4 PVC80 Redu Bus	shing (SPGxS)		50651565 / 0020
		Commodity Code: 39	17400000		
	0800	37X009208		1,00 EA	2025142666
		EN 10204-3.1 Inspec	tion Certificate	Fee	50651565 / 0140



Page 1/2

No. 199068873 of 10.10.2025 (please always refer to this number)

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no.:

Shipping type

US:Ground

Terms of delivery:

EXW SEA FREIGHT

GF USA STOCK PROPOSAL -CPVC and PVC SCH80 (Pipe & Fittings)

*3.1 CERTIFICATE REQUIRED

*3.1 CERTIFICATE REQUIRED

Coli	Package		Gross weight	Dimensions
1 20' PLA	ASTIC PIPE A	PIPE PACK 20 F00T	3.245,000	252.000 x 40.000 x 29.000
1 20' PLA	ASTIC PIPE B	PIPE PACK 20 F00T	4.216,000	252.000 x 40.000 x 57.000
1 20' PLA	ASTIC PIPE C	PIPE PACK 20 F00T	3.365,000	252.000 x 42.000 x 31.000
1 20' PLA	ASTIC PIPE D	PIPE PACK 20 F00T	5.089,000	252.000 x 42.000 x 48.000

Total weight: Gross 15.915,000 LB

Net 14.723,420

Total no of colis: 4

AF inches it is seen on the

Coli Package	Material	Gross Weight(LB)		Dimensions (INH) Your order no
Deliv pos	Description	Qty		Our order / pos
1 20' PLASTIC PIPE A	PIPE PACK 20 F00T	3.245,000	252.0	00 x 40.000 x 29.000
0040	H0800300PG2000	840,00	FT	2025142966
	3" IND PLUS PVC80	GREY PE PIPE 20FT		50655969 / 1320
	Commodity Code: 39	917230000		
0800	H0800075PG2000	5.260,00	FT	2025142966
750	3/4" IND PLUS PVC	80 GREY PE PIPE 20FT		50655969 / 1360
	Commodity Code: 39	917230000		
1 20' PLASTIC PIPE B	PIPE PACK 20 F00T	4.216,000	252.0	00 x 40.000 x 57.000
0010	H0800800CG2000	220,00	FT	2025142966
	8" ChlorFit CPVC80	PE PIPE 20FT		50655969 / 1250
	Commodity Code: 39	917230000		
0030	H0800600PG2000	340,00	FT	2025142966



Page 2/2

--- Packing list - continuation ---

No. 199068873 of 17.10.2025

Coli Package	Material	Gross Weight(LB)	Dimensions (INH) Your order no
Deliv pos	Description	Qty	Our order / pos
	6" IND PLUS PVC80	GREY PE PIPE 20FT	50655969 / 1310
	Commodity Code: 39	917230000	
1 20' PLASTIC PIPE C	PIPE PACK 20 F00T	3.365,000	252.000 x 42.000 x 31.000
0040	H0800300PG2000	840,00 FT	2025142966
	3" IND PLUS PVC80	GREY PE PIPE 20FT	50655969 / 1320
	Commodity Code: 39	917230000	
0050	H0800250PG2000	1.080,00 FT	2025142966
	2-1/2" IND PLUS PV	C80 GREY PE PIPE 20FT	50655969 / 1330
	Commodity Code: 39	917230000	
I 20' PLASTIC PIPE D	PIPE PACK 20 F00T	5.089,000	252.000 x 42.000 x 48.000
0020	H0800200CG2000	3.320,00 FT	2025142966
	2" ChlorFit CPVC80	PE PIPE 20FT	50655969 / 1260
	Commodity Code: 39	917230000	
0070	H0800125PG2000	2.360,00 FT	2025142966
	1-1/4" IND PLUS PV	C80 GREY PE PIPE 20FT	50655969 / 1350
	Commodity Code: 39	917230000	



Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Page 1/1

No. 199067760 of 10.10.2025 (please always refer to this number)

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no.:

US:Ground

Shipping type
Terms of delivery:

EXW SEA FREIGHT

SEA SHIPMENT FOR VEOLIA WATER SYSTEMS SO.2514500382 PR-2025113403-2025113406-2025113409

Coli	Package	Gross weight	Dimensions	
PACKE	D W/199010387 GFS CARTON	0,000	0.000 x 0.000 x 0.000	

Total weight: Gross

97,280 LB

Net

92,280

Total no of colis:

1

Coli Package	Material	Gross Weight(LB)	Dimensions (INH) Your order no
Deliv pos	Description	Qty	Our order / pos
PACKED W/19901038	7 GFS CARTON	97,280	1.000 x 1.000 x 1.000
0010	9801335FB	42,00 EA	2025143176
	3x1 CPVC80 Tee	e (SxSxS) BUSH	50658092 / 0010
	Commodity Code	•	
0020	9801289FB	6,00 EA	2025143176
	2-1/2x1 CPVC80	Tee (SxSxS) BUSH	50658092 / 0020
	Commodity Code		



Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Page 1/1

No. 199039926 of 26.09.2025 (please always refer to this number)

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no.:

US:Ground

Shipping type
Terms of delivery:

EXW SEA FREIGHT

Coli	Package	Gross weight	Dimensions	
PACKE	D W/199007497 GFS CARTON	0,000	0.000 x 0.000 x 0.000	

Total weight: Gross

1,000 LB

Net

192,500

Total no of colis:

1

Coli	Package	Material	Gross Weight(LB)		Dimensions (INH) Your order no
	Deliv pos	Description	, , , , , , , , , , , , , , , , , , ,	Qty	Our order / pos
PACKED	W/199007497	GFS CARTON	1,000		1.000 x 1.000 x 1.000
	0010	37Z000022	,	35,00 EA	2025142208
		Fuseal Squared I	PPFR Sample Kit		50643709 / 0060
		Commodity Code	e: 3917400000		



Packing list

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Page 1/2

No. 198999245 of 08.09.2025 (please always refer to this number)

Responsible Sales organisation: GF Irvine

Sold-to GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1

Customer:

109142

Your tax-id no.:

Shipping type

US:Ground

Terms of delivery:

EXW SEA FREIGHT

*3.1 CERTIFICATES REQUIRED

*3.1 CERTIFICATES REQUIRED

Coli	Package	Gross weight	Dimensions
PACKEI	D W/198994104 GFS CARTON	0,000	0.000 x 0.000 x 0.000

UAE

Total weight: Gross

Net

1,000 LB 50,425

Total no of colis:

1

Coli Package Deliv pos	Material Description	Gross Weight(LB)	tv		Dimensions (INH) Your order no Our order / pos
20117	20001.p.iio				·
PACKED W/198994104	GFS CARTON	1,000			1.000 x 1.000 x 1.000
0010	526126	3	0,00	EA	2025142731
	2x1-1/2 PPFR Sa	anitary Tee (SxSxS)			50652427 / 1400
	Commodity Code	- ,			
0020	526131		4,00	EA	2025142731
	3x1-1/2 PPFR Sa	anitary Tee (SxSxS)	•		50652427 / 1460
	Commodity Code	• • • • • • • • • • • • • • • • • • • •			
0030	526756		1.00	EA	2025142731
	4x3 PPFR Reduc	er Bushing (SPGxS)	,		50652427 / 1640
	Commodity Code	_ ,			
0040	526342		2.00	EA	2025142731
0010	6x2 PPFR 45 Wy		_,		50652427 / 1650
	Commodity Code	,			
0050	526134		0.00	FA	2025142731
0000	4x2 PPFR Sanita		0,00	_, ,	50652427 / 1780
	Commodity Code				
0070	527004		5,00	FΔ	2025142731
0070	321004	'	0,00		2020112101





Page 2/2

--- Packing list - continuation ---

No. 198999245 of 15.09.2025

Coli	Package	Material Gross	D)	Dimensions (INH)
	Deliv pos	Weight(I Description	Qty	Your order no Our order / pos
		4" PPFR Coupling (SxS)		50652427 / 1840
w		Commodity Code: 3917400000	1	
	0090	526893	17,00 EA	2025142731
		3" PPFR Female Adapter (SxFI	PT)	50652427 / 2060
		Commodity Code: 3917400000		
	0100	527002	225,00 EA	2025142731
		2" PPFR Coupling (SxS)	, =	50652427 / 0680
		Commodity Code: 3917400000	ı	10001.217.0000



Packing list

Page 1/1

No. 199070425 of 13.10.2025 (please always refer to this number)

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1

UAE

Customer:

109142

Your tax-id no.:

US:Ground

Shipping type Terms of delivery:

EXW SEA FREIGHT

GF USA STOCK PROPOSAL -CPVC and PVC SCH80 (Pipe & Fittings)

*3.1 CERTIFICATE REQUIRED

*3.1 CERTIFICATE REQUIRED

Coli	Package	Gross weight	Dimensions	
PACKE	D W/199073339 GFS CARTON	0,000	0.000 x 0.000 x 0.000	

Total weight: Gross

1,000 LB

Net

11,510

Total no of colis:

Coli	Package	Material	Gross Weight(LB)		Dimensions (INH) Your order no
	Deliv pos	Description	g(=2)	Qty	Our order / pos
PACKE	D W/199073339	GFS CARTON	1,000		1.000 x 1.000 x 1.000
	0010	9851020		10,00 EA	2025142966
		2" CPVC80 Flan	ge - One Piece (S)		50655969 / 1430
		Commodity Code	e: 3917400000		



Packing list

Page 1/2

No. 199073361 of 14.10.2025 (please always refer to this number)

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no.:

Shipping type

US:Ground

Terms of delivery:

EXW SEA FREIGHT

GF USA SEA Fuseal Stock Proposal + UPVC and CPVc sch 80 WEEK-42-2025

*3.1 CERTIFICATE REQUIRED

*3.1 CERTIFICATE REQUIRED

Coli	Package	Gross weight	Dimensions	
PACKE	D W/199073339 GFS CARTON	0,000	0.000 x 0.000 x 0.000	_

Total weight: Gross

25,738 LB

Net

25,738

Total no of colis:

1

Coli Package	Material	Gross Weight(LB)	Dimensions (INH) Your order no
Deliv pos	Description	Qty	Our order / pos
PACKED W/199073339	GFS CARTON	0,000	0.000 x 0.000 x 0.000
0010	829040	12,00 EA	2025143209
	4" PVC80 Coupling	ng (SxS)	50658522 / 0010
	Commodity Code	• •	
0020	9854015	4,00 EA	2025143209
	1-1/2" CPVC80 V	/an-Stone Flange (S)	50658522 / 0040
	Commodity Code	• , ,	
0030	9829338	5,00 EA	2025143209
	3x2 CPVC80 Cou	upling (SxS)	50658522 / 0050
	Commodity Code		
0040	9801249	2.00 EA	2025143209
	2x1 CPVC80 Tee	(SxSxS)	50658522 / 0060
	Commodity Code		
0050	37X009208	1,00 EA	2025143209
		spection Certificate Fee	50658522 / 0080



Page 2/2

--- Packing list - continuation ---

No. 199073361 of 20.10.2025



GF Corys Piping Systems L.L.C

00000 DUBAI INVESTMENT PARK 1

Page 1/ Reference: 2102679015 of30.10.2025

Ship-to

GF Corys Piping Systems L.L.C

PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1

UAE

PO Box 2345, Street 60, Community 598

UAE

Sold-to:

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer

109142

Delivery-No.

199068873 Delivery date

30.10.2025

Your PO No.

2025142966

Order-No. Incoterms

50655969 Order date EXW SEA FREIGHT

26.09.2025

Your Order Date

23.09.2025

US:Ground

Your Pur.Ord. Ship-to GF USA STOCK PROPOSAL -CPVC and PVC

Tracking Number

EBKG14678460

Terms of delivery

EXW From plant SEA FREIGHT

Mode of transport

Terms of payment

Origin: US

NET WITHIN 90 DAYS FROM DATE OF INVOICE

GF USA STOCK PROPOSAL -CPVC and PVC SCH80 (Pipe & Fittings)

Pos	Code no. Description	Quant Unit	tity	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	H0800800CG2000 *8" ChlorFit CPVC80 PE PIPE 20FT Non cancelable/Non returnable Old item no.: 0800800-CG-2000 Tariff no.: 3917230000 Origin: US	220	FT			33,26	7.317,20
20	Tracking No. EBKG14678460 H0800200CG2000 3 *2" ChlorFit CPVC80 PE PIPE 20FT Non cancelable/Non returnable Old item no.: 0800200-CG-2000 Tariff no.: 3917230000	3.320	FT			3,78	12.549,60

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com

3



Commercial Invoice

Reference: 2102679015 of30.10.2025

Description	Unit	/Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
Tracking No. EBKG14678460 H0800600PG2000 *6" Industrial Plus PVC80 GREY Pl Non cancelable/Non returnable Old item no.: 0800600-PG-2000 Tariff no.: 3917230000 Origin: US	340 FT E PIPE 2			9,26	3.148,40
Tracking No. EBKG14678460 H0800300PG2000 * 3" Industrial Plus PVC80 GREY Pl Non cancelable/Non returnable Old item no.: 0800300-PG-2000 Tariff no.: 3917230000 Origin: US	1.680 FT E PIPE 2			3,34	5.611,20
Tracking No. EBKG14678460 H0800250PG2000 * 2-1/2" Industrial Plus PVC80 GRE Non cancelable/Non returnable Old item no.: 0800250-PG-2000 Tariff no.: 3917230000 Origin: US	1.080 FT Y PE PI			2,73	2.948,40
				1,08	2.548,80
				0,52	2.735,20
Tracking No. EBKG14678460					
Net sales amount					36.858,80
	H0800600 PG2000 * 6" Industrial Plus PVC80 GREY Pl Non cancelable/Non returnable Old item no.: 0800600-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800300 PG2000 * 3" Industrial Plus PVC80 GREY Pl Non cancelable/Non returnable Old item no.: 0800300-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800250 PG2000 * 2-1/2" Industrial Plus PVC80 GRE Non cancelable/Non returnable Old item no.: 0800250-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800125 PG2000 * 1-1/4" Industrial Plus PVC80 GRE Non cancelable/Non returnable Old item no.: 0800125-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800075 PG2000 * 3/4" Industrial Plus PVC80 GREY Non cancelable/Non returnable Old item no.: 0800075-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800075 PG2000 * 3/4" Industrial Plus PVC80 GREY Non cancelable/Non returnable Old item no.: 0800075-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460	# 6" Industrial Plus PVC80 GREY PE PIPE 2 Non cancelable/Non returnable Old item no.: 0800600-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800300PG2000 1.680 FT * 3" Industrial Plus PVC80 GREY PE PIPE 2 Non cancelable/Non returnable Old item no.: 0800300-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800250PG2000 1.080 FT * 2-1/2" Industrial Plus PVC80 GREY PE PI Non cancelable/Non returnable Old item no.: 0800250-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800125PG2000 2.360 FT * 1-1/4" Industrial Plus PVC80 GREY PE PI Non cancelable/Non returnable Old item no.: 0800125-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800125PG2000 5.260 FT * 3/4" Industrial Plus PVC80 GREY PE PI Non cancelable/Non returnable Old item no.: 0800125-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800075PG2000 5.260 FT * 3/4" Industrial Plus PVC80 GREY PE PIPE Non cancelable/Non returnable Old item no.: 0800075-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 Non cancelable/Non returnable Old item no.: 0800075-PG-2000 Tariff no.: 3917230000 Origin: US	### H0800600PG2000 * 6" Industrial Plus PVC80 GREY PE PIPE 2 Non cancelable/Non returnable Old item no.: 0800600-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800300PG2000 * 3" Industrial Plus PVC80 GREY PE PIPE 2 Non cancelable/Non returnable Old item no.: 0800300-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800250PG2000 * 2-1/2" Industrial Plus PVC80 GREY PE PI Non cancelable/Non returnable Old item no.: 0800250-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800125PG2000 * 1.080 Tracking No. EBKG14678460 H0800125PG2000 * 1.080 Tracking No. EBKG14678460 H0800125PG2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800075PG2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800075PG2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800075PG2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800075PG2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800075PG2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460	# 1	H0800600PG2000 340 FT 9,26 *6" Industrial Plus PVC80 GREY PE PIPE 2 Non cancelable/Non returnable Old item no.: 0800600-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800300PG2000 1.680 FT 3,34 *3" Industrial Plus PVC80 GREY PE PIPE 2 Non cancelable/Non returnable Old item no.: 0800300-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800250PG2000 1.080 FT 2,73 *2-1/2" Industrial Plus PVC80 GREY PE PI Non cancelable/Non returnable Old item no.: 0800250-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800125PG2000 2.360 FT 1,08 *1-1/4" Industrial Plus PVC80 GREY PE PI Non cancelable/Non returnable Old item no.: 0800125-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800125PG2000 5.260 FT 1,08 *1-1/4" Industrial Plus PVC80 GREY PE PI Non cancelable/Non returnable Old item no.: 0800125-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 H0800075PG2000 5.260 FT 0,52 *3/4" Industrial Plus PVC80 GREY PE PIPE Non cancelable/Non returnable Old item no.: 080015-PG-2000 Tariff no.: 3917230000 Origin: US Tracking No. EBKG14678460 Not sales amount

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Reference: 2102679015 of30.10.2025



Sold-to:

GF Corvs Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Page 1/ Reference: 2102679016 of30.10.2025

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer

109142

Your PO No.

Delivery-No.

199073339 Delivery date

30.10.2025

2025143119

Order-No. Incoterms

Order date 50657894 EXW SEA FREIGHT

08.10.2025

Your Order Date Tracking Number

04.10.2025 EBKG14678460

US: Ground

Terms of delivery

EXW From plant SEA FREIGHT

Mode of transport

Terms of payment

NET WITHIN 90 DAYS FROM DATE OF INVOICE

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	9801020 2" CPVC80 Tee (SxSxS) Tariff no.: 3917400000 Origin: US	72 EA			8,09	582,48
	Tracking No. EBKG14678460					
	Net sales amount					582,48
_	TOTAL AMOUNT	USD				582,48

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904

Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Sold-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Page 1/ Reference: 2102679017 of30.10.2025

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer

109142

Delivery-No.

199073361 Delivery date

30.10.2025

Your PO No.

2025143209

Order-No. Incoterms

Order date 50658522

EXW SEA FREIGHT

13.10.2025

Your Order Date

13.10.2025

Tracking Number

Your Pur.Ord. Ship-to GF USA SEA Fuseal Stock Proposal +

EBKG14678460

Terms of delivery

EXW From plant SEA FREIGHT

Mode of transport US: Ground

Tracking No. EBKG14678460

Terms of payment

NET WITHIN 90 DAYS FROM DATE OF INVOICE

GF USA SEA Fuseal Stock Proposal + UPVC and CPVc sch 80 WEEK-42-2025

Pos	Code no. Description	Quantity Unit	P ri ce /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	829040 4" PVC80 Coupling (SxS) Tariff no.: 3917400000 Origin: US	12 EA			9,12	109,44
20	Tracking No. EBKG14678460 9854015 1-1/2" CPVC80 Van-Stone Flange (S Tariff no.: 3917400000 Origin: US	4 EA S)			6,98	27,92

+GF+

Commercial Invoice

Reference: 2102679017 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
30	9829338 3x2 CPVC80 Coupling (SxS) Tariff no.: 3917400000 Origin: US	5 EA			28,03	140,15
40	Tracking No. EBKG14678460 9801249 2x1 CPVC80 Tee (SxSxS) Tariff no.: 3917400000 Origin: US	2 EA			15,11	30,22
50	Tracking No. EBKG14678460 37X009208 EN 10204-3.1 INSPECTION CER' Non cancelable/Non returnable	1 EA TIFICATE FEE			200,00	200,00
	Tracking No. EBKG14678460					
	Net sales amount					507,73
-	TOTAL AMOUNT	USD				507,73

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904
Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Sold-to:

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Page 1/ 1 Reference: 2102679018 of30.10.2025

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer 109142

Delivery-No. 199070425 Delivery date 30.10.2025 Your PO No. 2025142966 Order-No. 50655969 Order date 26.09.2025

Incoterms EXW SEA FREIGHT

Your Order Date 23.09.2025

Your Pur.Ord. Ship-to GF USA STOCK PROPOSAL -CPVC and PVC

Tracking Number EBKG14678460

Terms of delivery EXW From plant SEA FREIGHT

Mode of transport US:Ground

Terms of payment NET WITHIN 90 DAYS FROM DATE OF INVOICE

GF USA STOCK PROPOSAL -CPVC and PVC SCH80 (Pipe & Fittings)

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	9851020 2" CPVC80 Flange - One Piece (S) Tariff no.: 3917400000 Origin: US	10 EA			13,61	136,10
	Tracking No. EBKG14678460					
	Net sales amount					136,10
	TOTAL AMOUNT	USD				136,10

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904

Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Sold-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Page 1/ Reference: 2102679019 of30.10.2025 2

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer

109142

Your PO No.

Delivery-No.

199039926 Delivery date

30.10.2025

2025142208

Order-No. Incoterms

50643709 Order date EXW SEA FREIGHT

14.07.2025

Your Order Date

11.07.2025

Your Pur.Ord. Ship-to

Khazna Data Center - Alemco - Sampl

Tracking Number

EBKG14678460

Terms of delivery

EXW From plant SEA FREIGHT US:Ground

Mode of transport

Terms of payment

NET WITHIN 90 DAYS FROM DATE OF INVOICE

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	37Z000022 * Fuseal Squared PPFR Sample Kit Non cancelable/Non returnable Old item no.: 550001 Tariff no.: 3917400000 Origin: US	35 EA			126,00	4.410,00
	Tracking No. EBKG14678460					
	Net sales amount					4.410,00
	TOTAL AMOUNT	USD				4.410,00

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Page 2/ Reference: 2102679019 of30.10.2025

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904

Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Sold-to:

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Page 1/ Reference: 2102679020 of30.10.2025

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer 109142

Delivery-No. 199007497 Delivery date 30.10.2025
Your PO No. 2025141951 Order-No. 50640013 Order date 19.06.2025
Incoterms EXW SEA FREIGHT

Your Pur.Ord. Ship-to Harvel_Bronze Traded Week 25_SEA

Tracking Number EBKG14678460

Terms of delivery EXW From plant SEA FREIGHT

Mode of transport US:Ground

Terms of payment NET WITHIN 90 DAYS FROM DATE OF INVOICE

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	801530FB * 6x3 PVC80 Tee (SxSxS)- Bushed Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	26 EA			29,51	767,26
	Tracking No. EBKG14678460					
	Net sales amount					767,26
-	TOTAL AMOUNT	USD				767.26

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.
Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904
Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Sold-to:

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Page 1/ 3 Reference: 2102679021 of30.10.2025

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer 109142

Delivery-No. 199010387 Delivery date 30.10.2025 Your PO No. 2025142878 Order-No. 50653619 Order date 11.09.2025

Incoterms EXW SEA FREIGHT

Your Order Date 11.09.2025

Your Pur.Ord. Ship-to Week 37-2025 Bronze Traded B2B + Go

Tracking Number EBKG14678460

Terms of delivery EXW From plant SEA FREIGHT

Mode of transport US:Ground

Terms of payment NET WITHIN 90 DAYS FROM DATE OF INVOICE

GF USA SEA: Week 37-2025 Bronze Traded B2B + Gold & Silver Stock Order

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	829120 12" PVC80 Coupling (SxS) Tariff no.: 3917400000 Origin: US	7 EA			105,62	739,34
20	Tracking No. EBKG14678460 897030 * 3" PVC80 Union EPDM (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			18,33	91,65
	Tracking No. EBKG14678460					

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904

Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Reference: 2102679021 of30.10.2025 Page 2/

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
30	897030 * 3" PVC80 Union EPDM (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	18 EA			18,33	329,94
40	Tracking No. EBKG14678460 897030 *3" PVC80 Union EPDM (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	4 EA			18,33	73,32
50	Tracking No. EBKG14678460 829100 10" PVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	11 EA			91,65	1.008,15
60	Tracking No. EBKG14678460 837532 6x4 PVC80 Redu Bushing (SPGxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	2 EA			15,66	31,32
70	Tracking No. EBKG14678460 9801020 2" CPVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			8,09	121,35
80	Tracking No. EBKG14678460 9806015 1-1/2" CPVC80 90 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	70 EA			5,03	352,10
90	Tracking No. EBKG14678460 9806020 2" CPVC80 90 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	280 EA			6,08	1.702,40
	Tracking No. EBKG14678460					

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Reference: 2102679021 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
100	9806040 4" CPVC80 90 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	305 EA			28,53	8.701,65
110	Tracking No. EBKG14678460 9854040 4" CPVC80 Van-Stone Flange (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	9 EA			24,75	222,75
120	Tracking No. EBKG14678460 37X009208 EN 10204-3.1 INSPECTION CERTIF Non cancelable/Non returnable	1 EA ICATE FEE			200,00	200,00
	Tracking No. EBKG14678460					
	Net sales amount					13.573,97
	TOTAL AMOUNT	USD				13.573,97

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.
Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904
Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294
Email: IrvineAR@georgfischer.com



2

Commercial Invoice

Page 1/ Reference: 2102679022 of30.10.2025

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1

UAE

Ship-to

Sold-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer

109142

Delivery-No.

199067760 Delivery date

30.10.2025

Your PO No.

2025143176

Order-No. Incoterms

Order date 50658092 EXW SEA FREIGHT

09.10.2025

Your Order Date Your Pur.Ord. Ship-to 2514500382

09.10.2025

Tracking Number

EBKG14678460

Terms of delivery

EXW From plant SEA FREIGHT

Mode of transport

Terms of payment

US: Ground NET WITHIN 90 DAYS FROM DATE OF INVOICE

SEA SHIPMENT FOR VEOLIA WATER SYSTEMS SO.2514500382 PR-2025113403-2025113406-2025113409

Pos	Code no. Description	Qua Unit	ntity	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	9801335FB * 3x1 CPVC80 Tee (SxSxS) BUSH Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	42	EA			30,82	1.294,44
20	Tracking No. EBKG14678460 9801289FB *2-1/2x1 CPVC80 Tee (SxSxS) BUSH Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US		EA			17,35	104,10

Visit www.gfps/us for our Terms and Conditions. Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294 Email: IrvineAR@georgfischer.com

A 35.0 接近关 2 52 9 55 5 61 2013

Tracking No. EBKG14678460



Page 2/ Reference: 2102679022 of30.10.2025

Net sales amount 1.398,54

TOTAL AMOUNT USD 1.398,54

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904
Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com

GF Industrial Group Americas 7777 Sloane Drive Little Rock, AR 72206

UNITED STATES OF AMERICA



2

Commercial Invoice

Page 1/ Reference: 2102679023 of30.10.2025

Sold-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer

109142

Delivery-No.

198994104 Delivery date

30.10.2025

Your PO No.

2025142666

Order-No. Incoterms

50651565 Order date EXW SEA FREIGHT

28.08.2025

Your Order Date

27.08.2025

US:Ground

Your Pur.Ord. Ship-to USA Stock _Week 34

Tracking Number

EBKG14678460

Terms of delivery

EXW From plant SEA FREIGHT

Mode of transport

NET WITHIN 90 DAYS FROM DATE OF INVOICE Terms of payment

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
20	829100 10" PVC80 Coupling (SxS) Tariff no.: 3917400000 Origin: US	5 EA			91,65	458,25
30	Tracking No. EBKG14678460 837532 6x4 PVC80 Redu Bushing (SPGxS) Tariff no.: 3917400000 Origin: US	88 EA			15,65	1.377,20
	Tracking No. EBKG14678460					

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Page 2/ Reference: 2102679023 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
40	9854020 2" CPVC80 Van-Stone Flange (S) Tariff no.: 3917400000 Origin: US	90 EA			8,45	760,50
50	Tracking No. EBKG14678460 837628 10x8 PVC80 Redu Bushing (SPGxS) Tariff no.: 3917400000 Origin: US	2 EA			89,46	178,92
60	Tracking No. EBKG14678460 829080 8" PVC80 Coupling (SxS) Tariff no.: 3917400000 Origin: US	8 EA			26,71	213,68
10	Tracking No. EBKG14678460 806080 8" PVC80 90 EII (SxS) Tariff no.: 3917400000 Origin: US	41 EA			64,94	2.662,54
70	Tracking No. EBKG14678460 817080 8" PVC80 45 EII (SxS) Tariff no.: 3917400000 Origin: US	46 EA			61,38	2.823,48
30	Tracking No. EBKG14678460 37X009208 EN 10204-3.1 INSPECTION CERTIFIC Non cancelable/Non returnable	1 EA CATE FEE			200,00	200,00
	Tracking No. EBKG14678460					
	Net sales amount					8.674,57

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Email: IrvineAR@georgfischer.com



Page 1/ Reference: 2102679024 of30.10.2025

Ship-to

GF Corys Piping Systems L.L.C

PO Box 2345, Street 60, Community 598 00000 DUBALINVESTMENT PARK 1

UAE

Sold-to:

GF Corvs Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer

109142

Delivery-No.

198999245 Delivery date

30.10.2025

Your PO No.

2025142731

Order-No. Incoterms

Order date 50652427 EXW SEA FREIGHT

04.09.2025

Your Order Date

03.09.2025

Your Pur.Ord. Ship-to GFC Fuseal Stock Proposal

Tracking Number

EBKG14678460

Terms of delivery

EXW From plant SEA FREIGHT

Mode of transport

Terms of payment

US:Ground NET WITHIN 90 DAYS FROM DATE OF INVOICE

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
80	527002 2" PPFR Coupling (SxS) Tariff no.: 3917400000 Origin: US	225 EA			7,09	1.595,25
10	Tracking No. EBKG14678460 526126 2x1-1/2 PPFR Sanitary Tee (SxSxS) Tariff no.: 3917400000 Origin: US	30 EA			10,45	313,50
	Tracking No. ⊞KG14678460					

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com

ALLE MALL STREET



Reference: 2102679024 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
20	526131 3x1-1/2 PPFR Sanitary Tee (SxSxS) Tariff no.: 3917400000 Origin: US	4 EA			18,66	74,64
30	Tracking No. EBKG14678460 526756 4x3 PPFR Reducer Bushing (SPGxS) Tariff no.: 3917400000 Origin: US	1 EA			16,03	16,03
40	Tracking No. EBKG14678460 526342 6x2 PPFR 45 Wye (SxSxS) Tariff no.: 3917400000 Origin: US	2 EA			50,69	101,38
50	Tracking No. EBKG14678460 526134 4x2 PPFR Sanitary Tee (SxSxS) Tariff no.: 3917400000 Origin: US	10 EA		ĸ	28,20	282,00
60	Tracking No. EBKG14678460 527004 4" PPFR Coupling (SxS) Tariff no.: 3917400000 Origin: US	15 EA			12,69	190,35
70	Tracking No. EBKG14678460 526893 3" PPFR Female Adapter (SxFPT) Tariff no.: 3917400000 Origin: US	17 EA			12,69	215,73
	Tracking No. EBKG14678460					
	Net sales amount					2.788,88
	TOTAL AMOUNT	USD				2.788,88

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com

GF Industrial Group Americas 7777 Sloane Drive Little Rock, AR 72206 UNITED STATES OF AMERICA



Sold-to:

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Page 1/ Reference: 2102679025 of30.10.2025

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer

109142

Delivery-No.

198978517 Delivery date

30.10.2025

Your PO No.

2025141093

Order-No. Incoterms 50627911 Order date EXW SEA FREIGHT

03.04.2025

Your Pur.Ord. Ship-to

Harvel Bronze Traded Week 14_SEA

Tracking Number

EBKG14678460

Terms of delivery Mode of transport EXW From plant SEA FREIGHT

US:Ground

Terms of payment

NET WITHIN 90 DAYS FROM DATE OF INVOICE

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	9898375015 1-1/2" CPVC80 TYPE 375 C Old item no.: 9898015 Tariff no.: 3917400000 Origin: US	30 EA Jnion EPDM (TxT)			24,03	720,90
	Tracking No. EBKG1467846	30				
	Net sales amount					720,90
	TOTAL AMOUNT	USD				720,90

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Sold-to:

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Page 1/ 1 Reference: 2102679026 of30.10.2025

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer 109142

Delivery-No. 198991293 Delivery date 30.10.2025 Your PO No. 2025142713 Order-No. 50651897 Order date 02.09.2025

Incoterms EXW SEA FREIGHT

Your Order Date 02.09.2025

Your Pur.Ord. Ship-to 22 AUG 2025 Bronze Traded B2B

Tracking Number EBKG14678460

Terms of delivery EXW From plant SEA FREIGHT

Mode of transport US:Ground

Terms of payment NET WITHIN 90 DAYS FROM DATE OF INVOICE

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	897030 * 3" PVC80 Union EPDM (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	2 EA			18,34	36,68
	Tracking No. EBKG14678460					
	Net sales amount					36,68
	TOTAL AMOUNT	USD				36,68

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com



Packing list

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE Page 1/1

No. 199042779 of 29.09.2025 (please always refer to this number)

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345,Street 60,Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no.:

Shipping type US:Ground

Terms of delivery:

EXW SEA FREIGHT

GF USA STOCK PROPOSAL -CPVC and PVC SCH80 (Pipe & Fittings)

*3.1 CERTIFICATE REQUIRED

*3.1 CERTIFICATE REQUIRED

Coli Package		Gross weight	Dimensions
COLIS 01 FITTINGS	GFS PALLET - FITTING	514,000	45.000 x 45.000 x 50.000
COLIS 02 FITTINGS	GFS PALLET - FITTING	607,000	45.000 x 45.000 x 53.000
COLIS 03 FITTINGS	GFS PALLET - FITTING	557,000	45.000 x 45.000 x 50.000
COLIS 04 FITTINGS	GFS PALLET - FITTING	613,000	45.000 x 45.000 x 50.000
COLIS 05 FITTINGS	GFS PALLET - FITTING	528,000	45.000 x 45.000 x 50.000
COLIS 06 FITTINGS	GFS PALLET - FITTING	525,000	45.000 x 45.000 x 53.000
COLIS 07 FITTINGS	GFS PALLET - FITTING	449,000	45.000 x 45.000 x 51.000
COLIS 08 FITTINGS	GFS PALLET - FITTING	507,000	45.000 x 45.000 x 49.000
COLIS 09 FITTINGS	GFS PALLET - FITTING	482,000	45.000 x 45.000 x 49.000
COLIS 10 FITTINGS	GFS PALLET - FITTING	628,000	45.000 x 45.000 x 50.000
COLIS 11 FITTINGS	GFS PALLET - FITTING	486,000	45.000 x 45.000 x 46.000
COLIS 12 FITTINGS	GFS PALLET - FITTING	527,000	45.000 x 45.000 x 48.000
COLIS 13 FITTINGS	GFS PALLET - FITTING	602,000	45.000 x 45.000 x 47.000
COLIS 14 FITTINGS	GFS PALLET - FITTING	582,000	45.000 x 45.000 x 46.000
COLIS 15 FITTINGS	GFS PALLET - FITTING	541,000	45.000 x 45.000 x 49.000

Total weight: Gross

8.148,000 LB

Net

6.980,458

Total no of colis:

15

Coli	Package	Material	Gross Weight(LB)		Dimensions (INH) Your order no
	Deliv pos	Description	(LD)	Qty	Our order / pos
COLIS	1 FITTINGS GF	S PALLET - FITTING	514,000		45.000 x 45.000 x 50.000



Page 2/1

--- Packing list - continuation --- No. 199042779 of 06.10.2025

Deliv pos Description Qty Our order / pos	Coli Package	Material Gross Weight(LB)	Dimensions (INH) Your order no
1/2" CPVC80 90 EII (SxS) Commodity Code: 3917400000 9837292	Deliv po	Description Qty	
Commodity Code: 3917400000 9837292	0010	9806005 1.250,00 EA	2025142966
0020 9837292 40,00 EA 2025142966 2-1/2x2 CPVC80 Redu Bushing (SPGxS) 50655969 / 0020 Commodity Code: 3917400000 0030 9837249 100,00 EA 2025142966 2x1 CPVC80 Redu Bushing (SPGxS) 50655969 / 0040 Commodity Code: 3917400000 0040 829248 5,00 EA 2025142966 2x3/4 PVC80 Coupling (SxS) 50655969 / 0060 Commodity Code: 3917400000 0050 9801337FB 5,00 EA 2025142966 3x1-1/2 CPVC80 Tee (SxSxS) BUSH 50655969 / 0070 Commodity Code: 3917400000 0060 9829101 100,00 EA 2025142966 3/4x1/2 CPVC80 Coupling (SxS) 50655969 / 0080 Commodity Code: 3917400000 0070 9868020SS 4,00 EA 2025142966 2" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0090 0080 9868015SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0100 Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0090 986807SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 986807SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 986807SS 10,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 0100 986807SS 20,00 EA 2025142966 0137X009208 1,00 EA 2025142966 0137X009208 5,00 EA 2025142966 0137X009208 1,00 EA 2025142966 0100 45.000 x 45.000 x 53.000 0110 986907SS 10,00 EA 2025142966		1/2" CPVC80 90 EII (SxS)	50655969 / 0010
2-1/2x2 CPVC80 Redu Bushing (SPGxS) Commodity Code: 3917400000 9837249 100,00 EA 2x1 CPVC80 Redu Bushing (SPGxS) Commodity Code: 3917400000 0040 829248 2x3/4 PVC80 Coupling (SxS) Commodity Code: 3917400000 0050 9801337FB 5,00 EA 3x1-1/2 CPVC80 Tee (SxSxS) BUSH Commodity Code: 3917400000 0060 9829101 100,00 EA 2025142966 3x14x1/2 CPVC80 Coupling (SxS) Commodity Code: 3917400000 0070 9868020SS 4,00 EA 2025142966 2" CPVC80-to-316SS FEMALE ADPT (SxFT) Commodity Code: 3917400000 0080 9868012SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT (SxFT) Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT (SxFT) Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT (SxFT) Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0100 Commodity Code: 3917400000 0100 9868007SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0110 Commodity Code: 3917400000 1660 37X009208 1-1/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 80555969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 0110 9869007SS 10,00 EA 2025142966		Commodity Code: 3917400000	
Commodity Code: 3917400000 9837249 100,00 EA 2025142966 2x1 CPVC80 Redu Bushing (SPGxS) 50655969 / 0040 Commodity Code: 3917400000 0040 829248 5,00 EA 2025142966 2x3/4 PVC80 Coupling (SxS) 50655969 / 0060 Commodity Code: 3917400000 0050 9801337FB 5,00 EA 2025142966 3x1-1/2 CPVC80 Tee (SxSxS) BUSH 50655969 / 0070 Commodity Code: 3917400000 0060 9829101 100,00 EA 2025142966 3/4x1/2 CPVC80 Coupling (SxS) 50655969 / 0080 Commodity Code: 3917400000 0070 9868020SS 4,00 EA 2025142966 2" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0090 Commodity Code: 3917400000 0080 9868015SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0100 Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 986807SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0110 Commodity Code: 3917400000 1660 37X009208 1-1/40 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 0210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966	0020	9837292 40,00 EA	2025142966
0030 9837249 100,00 EA 2025142966 2x1 CPVC80 Redu Bushing (SPGxS) 50655969 / 0040 Commodity Code: 3917400000 0040 829248 5,00 EA 2025142966 2x3/4 PVC80 Coupling (SxS) 50655969 / 0060 Commodity Code: 3917400000 0050 9801337FB 5,00 EA 2025142966 3x1-1/2 CPVC80 Tee (SxSxS) BUSH 50655969 / 0070 Commodity Code: 3917400000 0060 9829101 100,00 EA 2025142966 3/4x1/2 CPVC80 Coupling (SxS) 50655969 / 0080 Commodity Code: 3917400000 0070 9868020SS 4,00 EA 2025142966 2" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0090 Commodity Code: 3917400000 0080 9868015SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0100 Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 0100 9868007SS 20,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966		2-1/2x2 CPVC80 Redu Bushing (SPGxS)	50655969 / 0020
2x1 CPVC80 Redu Bushing (SPGxS) 50655969 / 0040 Commodity Code: 3917400000 829248 5,00 EA 2025142966 2x3/4 PVC80 Coupling (SxS) 50655969 / 0060 Commodity Code: 3917400000 0050 9801337FB 5,00 EA 2025142966 3x1-1/2 CPVC80 Tee (SxSxS) BUSH 50655969 / 0070 Commodity Code: 3917400000 0060 9829101 100,00 EA 2025142966 3/4x1/2 CPVC80 Coupling (SxS) 50655969 / 0080 Commodity Code: 3917400000 0070 9868020SS 4,00 EA 2025142966 2" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0090 Commodity Code: 3917400000 0080 986801SSS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0100 Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868007SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655989 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966		Commodity Code: 3917400000	
Commodity Code: 3917400000 829248 5,00 EA 2025142966 2x3/4 PVC80 Coupling (SxS) 50655969 / 0060 Commodity Code: 3917400000 0050 9801337FB 5,00 EA 2025142966 3x1-1/2 CPVC80 Tee (SxSxS) BUSH 50655969 / 0070 Commodity Code: 3917400000 0060 9829101 100,00 EA 2025142966 3/4x1/2 CPVC80 Coupling (SxS) 50655969 / 0080 Commodity Code: 3917400000 0070 9868020SS 4,00 EA 2025142966 2" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0090 Commodity Code: 3917400000 0080 9868015SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0100 Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868007SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868007SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45,000 x 45,000 x 53,000 0110 9869007SS 10,00 EA 2025142966	0030	9837249 100,00 EA	2025142966
0040 829248 5,00 EA 2025142966 2x3/4 PVC80 Coupling (SxS) 50655969 / 0060 Commodity Code: 3917400000 0050 9801337FB 5,00 EA 2025142966 3x1-1/2 CPVC80 Tee (SxSxS) BUSH 50655969 / 0070 Commodity Code: 3917400000 0060 9829101 100,00 EA 2025142966 3/4x1/2 CPVC80 Coupling (SxS) 50655969 / 0080 Commodity Code: 3917400000 0070 9868020SS 4,00 EA 2025142966 2" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0090 Commodity Code: 3917400000 0080 9868015SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0100 Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868007SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0110 Commodity Code: 3917400000 0110 9868007SS 20,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966		2x1 CPVC80 Redu Bushing (SPGxS)	50655969 / 0040
2x3/4 PVC80 Coupling (SxS) Commodity Code: 3917400000 9801337FB 5,00 EA 3x1-1/2 CPVC80 Tee (SxSxS) BUSH Commodity Code: 3917400000 0060 9829101 3/4x1/2 CPVC80 Coupling (SxS) Commodity Code: 3917400000 0070 9868020SS 4,00 EA 2025142966 2" CPVC80-to-316SS FEMALE ADPT (SxFT) Commodity Code: 3917400000 0080 9868015SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) Commodity Code: 3917400000 0100 986807SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADPT(SxFT) Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee COLIS 02 FITTINGS GFS PALLET - FITTING GOT,000 0110 9869007SS 10,00 EA 2025142966		Commodity Code: 3917400000	
Commodity Code: 3917400000 9801337FB 5,00 EA 2025142966 3x1-1/2 CPVC80 Tee (SxSxS) BUSH 50655969 / 0070 Commodity Code: 3917400000 0060 9829101 100,00 EA 2025142966 3/4x1/2 CPVC80 Coupling (SxS) 50655969 / 0080 Commodity Code: 3917400000 9868020SS 4,00 EA 2025142966 2" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0090 Commodity Code: 3917400000 0080 9868015SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0100 Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 986807SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 986807SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966	0040	829248 5,00 EA	2025142966
Commodity Code: 3917400000 9801337FB 5,00 EA 2025142966 3x1-1/2 CPVC80 Tee (SxSxS) BUSH 50655969 / 0070 Commodity Code: 3917400000 0060 9829101 100,00 EA 2025142966 3/4x1/2 CPVC80 Coupling (SxS) 50655969 / 0080 Commodity Code: 3917400000 9868020SS 4,00 EA 2025142966 2" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0090 Commodity Code: 3917400000 0080 9868015SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0100 Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 986807SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 986807SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966		2x3/4 PVC80 Coupling (SxS)	50655969 / 0060
0050 9801337FB 5,00 EA 2025142966 3x1-1/2 CPVC80 Tee (SxSxS) BUSH 50655969 / 0070 Commodity Code: 3917400000 0060 9829101 100,00 EA 2025142966 3/4x1/2 CPVC80 Coupling (SxS) 50655969 / 0080 Commodity Code: 3917400000 0070 9868020SS 4,00 EA 2025142966 2" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0090 Commodity Code: 3917400000 0080 9868015SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0100 Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868007SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868007SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966			
3x1-1/2 CPVC80 Tee (SxSxS) BUSH 50655969 / 0070 Commodity Code: 3917400000	0050	-	2025142966
Commodity Code: 3917400000 9829101 100,00 EA 2025142966 3/4x1/2 CPVC80 Coupling (SxS) 50655969 / 0080 Commodity Code: 3917400000 9868020SS 4,00 EA 2025142966 2" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0090 Commodity Code: 3917400000 0080 9868015SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0100 Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868007SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966			
0060 9829101 100,00 EA 2025142966 3/4x1/2 CPVC80 Coupling (SxS) 50655969 / 0080 Commodity Code: 3917400000 0070 9868020SS 4,00 EA 2025142966 2" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0090 Commodity Code: 3917400000 0080 9868015SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0100 Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868007SS 5,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 1660 37X009208 20,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966		,	
3/4x1/2 CPVC80 Coupling (SxS) Commodity Code: 3917400000 9868020SS	0060		2025142966
Commodity Code: 3917400000 9868020SS			
0070 9868020SS 4,00 EA 2025142966 2" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0090 Commodity Code: 3917400000 0080 9868015SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0100 Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868007SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966			000000000000000000000000000000000000000
2" CPVC80-to-316SS FEMALE ADPT (SxFT) 50655969 / 0090 Commodity Code: 3917400000 9868015SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0100 Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868007SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966	0070		2025142966
Commodity Code: 3917400000 9868015SS		, , , , , , , , , , , , , , , , , , , ,	
0080 9868015SS 5,00 EA 2025142966 1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0100 Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868007SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966		, ,	00000007 0000
1-1/2" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0100 Commodity Code: 3917400000 0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868007SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966	0080		2025142966
Commodity Code: 3917400000 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868007SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966		-,	
0090 9868012SS 5,00 EA 2025142966 1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868007SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966			3003390970100
1-1/4" CPVC80-to-316SS FEMALE ADPT(SxFT) 50655969 / 0110 Commodity Code: 3917400000 0100 9868007SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966	0090		20251/2066
Commodity Code: 3917400000 0100 9868007SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966	0000	,	
0100 9868007SS 20,00 EA 2025142966 3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966		, ,	300333037 0110
3/4" CPVC80-to-316SS FEMALE ADAPT (SxFT) 50655969 / 0130 Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966	0100		2025142066
Commodity Code: 3917400000 1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966	0100	,	
1660 37X009208 1,00 EA 2025142966 EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966			3003390970130
EN 10204-3.1 Inspection Certificate Fee 50655969 / 2210 COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966	1660		2025142066
COLIS 02 FITTINGS GFS PALLET - FITTING 607,000 45.000 x 45.000 x 53.000 0110 9869007SS 10,00 EA 2025142966	1000	, ·	
0110 9869007SS 10,00 EA 2025142966	COLIS 02 FITTINGS	·	
		•	
	0110		
Commodity Code: 3917400000			50055909 / 0140
	0120		2025142066
	0120		
			50655969 / 0150
Commodity Code: 3917400000 0130 9832005SS 10,00 EA 2025142966	0120		2005440000
,	0130		
1/2" CPVC80-to-316SS 90Deg Drop Ear(SxFT 50655969 / 0160			50655969 / 0160
Commodity Code: 3917400000	04.40		0005440000
0140 801209 5,00 EA 2025142966	0140	- /	
1-1/2x1/2 PVC80 Tee (SxSxS) 50655969 / 0190			50655969 / 0190
Commodity Code: 3917400000	0450		
0150 898375015 5,00 EA 2025142966	0150	898375015 5,00 EA	2025142966



Page 3/1

--- Packing list - continuation ---

Coli	Package	Material Gross Weight(LB)			Dimensions (INH) Your order no
	Deliv pos	Description	Qty		Our order / pos
		1-1/2" PVC80 TYPE 375 Union EPD	M (TxT)		50655969 / 0210
		Commodity Code: 3917400000			
	0160	9856005	35,00	EA	2025142966
		1/2" CPVC80 Van-Stone Flange (SF	PG)		50655969 / 0220
		Commodity Code: 3917400000			
	0170	856010	5,00	EA	2025142966
		1" PVC80 Van-Stone Flange (SPG)			50655969 / 0230
		Commodity Code: 3917400000			
	0180	856007	10,00	EA	2025142966
		3/4" PVC80 Van-Stone Flange (SPC	3)		50655969 / 0240
		Commodity Code: 3917400000			
	0190	856005	5,00	EA	2025142966
		1/2" PVC80 Van-Stone Flange (SPC	3)		50655969 / 0250
		Commodity Code: 3917400000	•		
	0200	839073	100,00	EA	2025142966
		1/2x3/8 PVC80 Redu Bushing (MTx			50655969 / 0260
		Commodity Code: 3917400000	,		
	1510	9829030	40,00	EA	2025142966
	10.10	3" CPVC80 Coupling (SxS)	,		50655969 / 1980
		Commodity Code: 3917400000			
	1520	9817030	5,00	FA	2025142966
	1020	3" CPVC80 45 Ell (SxS)	0,00		50655969 / 1990
		Commodity Code: 3917400000			
	1530	9817025	15,00	FA	2025142966
	1000	2-1/2" CPVC80 45 Ell (SxS)	10,00		50655969 / 2000
		Commodity Code: 3917400000			00000007, 2000
	1540	9817015	30,00	FΔ	2025142966
	1340	1-1/2" CPVC80 45 Ell (SxS)	30,00		50655969 / 2010
		Commodity Code: 3917400000			00000007 2010
	1550	9817012	30,00	EΔ	2025142966
	1550	1-1/4" CPVC80 45 Ell (SxS)	30,00	LA	50655969 / 2020
		Commodity Code: 3917400000			3003330372020
	4500	-	10,00	ΕΛ	2025142966
	1560	9808010	10,00	EA	50655969 / 2030
		1" CPVC80 90 EII (TxT)			30033909 / 2030
	4570	Commodity Code: 3917400000	25.00	ΕΛ	2025142066
	1570	9807007	25,00	EA	2025142966 50655969 / 2050
		3/4" CPVC80 90 Ell (SxT)			50055909 / 2050
	4500	Commodity Code: 3917400000	E 00	- A	2025142056
	1580	829422	5,00	EA	2025142966
		4x3 PVC80 Coupling (SxS)			50655969 / 2070
	4500	Commodity Code: 3917400000	C 00	- A	2025142056
	1590	829420FB	5,00	EA	2025142966
		4x2 PVC80 Coupling (SxS) BUSH			50655969 / 2080
		Commodity Code: 3917400000			0005440000
	1600	829250	5,00	ΕA	2025142966
		2x1-1/4 PVC80 Coupling (SxS)			50655969 / 2100



Page 4/1

--- Packing list - continuation ---

Coli	Package	Weigh	Weight(LB)		Dimensions (INH) Your order no	
	Deliv po	s Description	Qty		Our order / pos	
00110.00.5		Commodity Code: 391740000				
COLIS 03 F			7,000		45.000 x 45.000 x 50.000	
	0210	801292	35,00	EA	2025142966	
		2-1/2x2 PVC80 Tee (SxSxS)			50655969 / 0270	
		Commodity Code: 391740000				
	0220	897375005	25,00	EA	2025142966	
		1/2" PVC80 TYPE 375 Union			50655969 / 0280	
		Commodity Code: 391740000				
	0230	9897375007	280,00	EA	2025142966	
		3/4" CPVC80 TYPE 375 Unio	, ,		50655969 / 0290	
		Commodity Code: 391740000				
	0240	9853080	2,00	EA	2025142966	
		8" CPVC80 Blind Flange			50655969 / 0300	
		Commodity Code: 391740000				
	0250	830020	5,00	EA	2025142966	
		2" PVC80 Coupling (TxT)			50655969 / 0310	
		Commodity Code: 391740000				
	0260	9853005	10,00	EA	2025142966	
		1/2" CPVC80 Blind Flange			50655969 / 0320	
		Commodity Code: 391740000	00			
	0270	853005	5,00	EA	2025142966	
		1/2" PVC80 Blind Flange			50655969 / 0330	
		Commodity Code: 391740000	00			
	0280	837530	8,00	EA	2025142966	
		6x3 PVC80 Redu Bushing (SI	PGxS)		50655969 / 0340	
		Commodity Code: 391740000	00			
	0290	9808015	10,00	EA	2025142966	
		1-1/2" CPVC80 90 EII (TxT)			50655969 / 0350	
		Commodity Code: 391740000	00			
	0300	853080	2,00	EA	2025142966	
		8" PVC80 Blind Flange			50655969 / 0370	
		Commodity Code: 391740000	00			
COLIS 04 F	ITTINGS	GFS PALLET - FITTING 613	3,000		45.000 x 45.000 x 50.000	
	0310	9851040	5,00	EA	2025142966	
		4" CPVC80 Flange - One Pie	ce (S)		50655969 / 0380	
		Commodity Code: 391740000	00			
	0320	9851030	5,00	EA	2025142966	
		3" CPVC80 Flange - One Pie	ce (S)		50655969 / 0390	
		Commodity Code: 391740000	00 ` ´			
	0330	898030	1,00	EA	2025142966	
		3" PVC80 Union EPDM (TxT)			50655969 / 0400	
		Commodity Code: 391740000				
	0340	9853010	10,00	EA	2025142966	
		1" CPVC80 Blind Flange	.,		50655969 / 0410	
		Commodity Code: 391740000	00			
	0350	801210	15,00	EA	2025142966	
			10,00		2020172000	



Page 5/1 --- Packing list - continuation --- No. 1990

Coli	Package Deliv pos	Material Gross Weight(LB) Description	Qty	Dimensions (INH) Your order no Our order / pos
		1-1/2x3/4 PVC80 Tee (SxSxS)	-	50655969 / 0430
		Commodity Code: 3917400000		000000007 0 100
	0360	853060	2,00 EA	2025142966
	0000	6" PVC80 Blind Flange	_,	50655969 / 0440
		Commodity Code: 3917400000		
	0370	847100	5,00 EA	2025142966
		10" PVC80 Cap (S)		50655969 / 0450
		Commodity Code: 3917400000		
	0380	847100	10,00 EA	2025142966
		10" PVC80 Cap (S)		50655969 / 0460
		Commodity Code: 3917400000		
	0390	9829012	75,00 EA	2025142966
		1-1/4" CPVC80 Coupling (SxS)		50655969 / 0490
		Commodity Code: 3917400000		
	0400	829251	5,00 EA	2025142966
		2x1-1/2 PVC80 Coupling (SxS)		50655969 / 0500
		Commodity Code: 3917400000		
COLIS 05		FS PALLET - FITTING 528,000		45.000 x 45.000 x 50.000
	0410	9805007	30,00 EA	2025142966
		3/4" CPVC80 Tee (TxTxT)		50655969 / 0510
		Commodity Code: 3917400000		0005440000
	0420	9801249	15,00 EA	2025142966
		2x1 CPVC80 Tee (SxSxS)		50655969 / 0530
		Commodity Code: 3917400000	45.00 54	0005440000
	0430	9801247	15,00 EA	2025142966
		2x1/2 CPVC80 Tee (SxSxS)		50655969 / 0540
	2442	Commodity Code: 3917400000	E 00 EA	2025142966
	0440	9801211	5,00 EA	50655969 / 0550
		1-1/2x1 CPVC80 Tee (SxSxS)		3003390970330
	0450	Commodity Code: 3917400000	15,00 EA	2025142966
	0450	829120	10,00 EA	50655969 / 0560
		12" PVC80 Coupling (SxS) Commodity Code: 3917400000		300003037 0000
	0460	829100	2,00 EA	2025142966
	0400	10" PVC80 Coupling (SxS)	2,00 LA	50655969 / 0570
		Commodity Code: 3917400000		00000007 00.0
	0470	829060	60,00 EA	2025142966
	0470	6" PVC80 Coupling (SxS)	00,00 27	50655969 / 0580
		Commodity Code: 3917400000		
	0480	829040	130,00 EA	2025142966
	0-100	4" PVC80 Coupling (SxS)		50655969 / 0590
		Commodity Code: 3917400000		
	0490	829025	15,00 EA	2025142966
	0.100	2-1/2" PVC80 Coupling (SxS)	,	50655969 / 0610
		Commodity Code: 3917400000		
	0500	829020	140,00 EA	2025142966
	5550		,	·



Page 6/1

--- Packing list - continuation ---

Coli Packa	ge Ma	aterial	Gross Weight(LB)		Dimensions (INH) Your order no
Deliv	pos De	escription	Qty		Our order / pos
		PVC80 Coupling			50655969 / 0620
20110 00 5177110		ommodity Code: 39			
COLIS 06 FITTING			525,000		45.000 x 45.000 x 53.000
0510		29010		0 EA	2025142966
		PVC80 Coupling (50655969 / 0630
0.500		ommodity Code: 39			
0520		9007		0 EA	2025142966
		4" PVC80 Coupling			50655969 / 0640
		ommodity Code: 39			
0530		9005		0 EA	2025142966
		2" PVC80 Coupling			50655969 / 0650
		ommodity Code: 39			
0540		01210		0 EA	2025142966
		1/2x3/4 CPVC80 T			50655969 / 0660
		ommodity Code: 39			
0550		7100		0 EA	2025142966
		" PVC80 45 EII (S:	,		50655969 / 0690
		ommodity Code: 39	917400000		
0560		7060		0 EA	2025142966
	6"	PVC80 45 Ell (Sx	3)		50655969 / 0700
	Co	ommodity Code: 39	917400000		
0570	81	7040	70,0	0 EA	2025142966
	4"	PVC80 45 EII (Sxs	3)		50655969 / 0710
	Co	ommodity Code: 39	17400000		
0580	81	7025	10,0	0 EA	2025142966
	2-1	1/2" PVC80 45 EII	(SxS)		50655969 / 0720
	Co	mmodity Code: 39	17400000		
0590	81	7007	20.0	0 EA	2025142966
	3/4	4" PVC80 45 EII (S			50655969 / 0730
		mmodity Code: 39			
0600		7005		0 EA	2025142966
	1/2	2" PVC80 45 EII (S			50655969 / 0740
		mmodity Code: 39			
COLIS 07 FITTING			449,000		45.000 x 45.000 x 51.000
0610		7030	135,0	0 FA	2025142966
	3"	PVC80 Union EPI	-		50655969 / 0750
		mmodity Code: 39			33333337 3703
0620		7375020		0 EA	2025142966
			Union EPDM (SxS)	O L/(50655969 / 0760
		mmodity Code: 39			000000007 0700
0630		7375015		0 EA	2025142966
			375 Union EPDM (SxS		50655969 / 0770
		mmodity Code: 39		''	30033303 / 07 / 0
0640		7375012		0 EA	2025142966
00.10			375 Union EPDM (SxS		
		mmodity Code: 39		'')	50655969 / 0780
		miniounty Code: 38	1740000		



--- Packing list - continuation --- No. 1990

Coli	Package	Material Gros Weig	ht(LB)		Dimensions (INH) Your order no
	Deliv pos	Description	Qty		Our order / pos
	0650	897375007	6,00 E	EΑ	2025142966
		3/4" PVC80 TYPE 375 Unio			50655969 / 0790
		Commodity Code: 3917400			
	0660	870532	8,00 E	EA	2025142966
		6x4 PVC80 45 Wye (SxSxS			50655969 / 0800
		Commodity Code: 3917400			
	0670	870040	20,00 E	EA	2025142966
		4" PVC80 45 Wye (SxSxS)			50655969 / 0810
		Commodity Code: 3917400			0005440000
	0680	806040	70,00 E	EA	2025142966
		4" PVC80 90 EII (SxS)			50655969 / 0830
		Commodity Code: 3917400			0005440000
	0690	806030	65,00 E	EA	2025142966
		3" PVC80 90 Ell (SxS)			50655969 / 0840
		Commodity Code: 3917400			0005440000
	0700	806025	25,00 E	ΕA	2025142966
		2-1/2" PVC80 90 EII (SxS)			50655969 / 0850
		Commodity Code: 3917400			45.000 45.000 40.000
COLIS 08 I			07,000		45.000 x 45.000 x 49.000
	0710	806020	180,00 E	EA	2025142966
		2" PVC80 90 EII (SxS)			50655969 / 0860
		Commodity Code: 3917400			2025442066
	0720	806015	80,00 I	EA	2025142966 50655969 / 0870
		1-1/2" PVC80 90 Ell (SxS)	000		5005590970070
	0700	Commodity Code: 3917400		Γ Λ	2025142966
	0730	806012	1.390,00	⊏ A	50655969 / 0880
		1-1/4" PVC80 90 Ell (SxS)	000		300339097 0000
	0740	Commodity Code: 3917400	475,00 l	⊏ ∧	2025142966
	0740	806007	475,00	LA	50655969 / 0890
		3/4" PVC80 90 Ell (SxS)	000		300333037 0030
	0750	Commodity Code: 3917400 857375007	10,00	⊏ ∧	2025142966
	0750	3/4" PVC80 TYPE 375 Unio			50655969 / 0900
		Commodity Code: 3917400			000000007 0000
	0760	801530FB	2,00	FΔ	2025142966
	0700	6x3 PVC80 Tee (SxSxS) B	•		50655969 / 0930
		Commodity Code: 3917400			00000007 0000
	0770	801422	10,00	FΔ	2025142966
	0770	4x3 PVC80 Tee (SxSxS)	10,00		50655969 / 0940
		Commodity Code: 3917400	000		22223000, 20.0
	0780	801420	15,00	EA	2025142966
	0700	4x2 PVC80 Tee (SxSxS)	10,00		50655969 / 0950
		Commodity Code: 3917400	000		22233022. 2222
	0790	801338	15,00	ΕA	2025142966
	0,00	3x2 PVC80 Tee (SxSxS)			50655969 / 0960
		3/E : 1 300 100 (3/6/0)			



Page 8/1

--- Packing list - continuation ---

	Package		Material Gross Weight(LB)	
	Deliv po	s Description	Qty	Your order no Our order / pos
	0800	9870060	2,00 EA	2025142966
		6" CPVC 45 Wye (SxSxS)		50655969 / 0970
		Commodity Code: 3917400000		
OLIS 09 F		GFS PALLET - FITTING 482,000		$45.000 \times 45.000 \times 49.000$
	0810	854100	14,00 EA	2025142966
		10" PVC80 Van-Stone Flange (S)		50655969 / 0980
		Commodity Code: 3917400000		
	0820	854040	55,00 EA	2025142966
		4" PVC80 Van-Stone Flange (S)		50655969 / 1000
		Commodity Code: 3917400000		
	0830	854030	5,00 EA	2025142966
		3"(DN80)PVC VS Flg 150# PN40/2	25/16/10(S)	50655969 / 1010
		Commodity Code: 3917400000		
	0840	854020	50,00 EA	2025142966
		2" PVC80 Van-Stone Flange (S)		50655969 / 1030
		Commodity Code: 3917400000		
	0850	854020	2,00 EA	2025142966
		2" PVC80 Van-Stone Flange (S)		50655969 / 1040
		Commodity Code: 3917400000		
	0860	854015	20,00 EA	2025142966
		1-1/2" PVC80 Van-Stone Flange (S		50655969 / 1050
		Commodity Code: 3917400000	•	
	0870	854012	10,00 EA	2025142966
		1-1/4" PVC80 Van-Stone Flange (S	S) .	50655969 / 1060
		Commodity Code: 3917400000	,	
	0880	854010	50,00 EA	2025142966
		1" PVC80 Van-Stone Flange (S)	•	50655969 / 1070
		Commodity Code: 3917400000		
	0890	854007	10,00 EA	2025142966
		3/4" PVC80 Van-Stone Flange (S)		50655969 / 1080
		Commodity Code: 3917400000		
	0900	854005	10,00 EA	2025142966
		1/2" PVC80 Van-Stone Flange (S)	•	50655969 / 1090
		Commodity Code: 3917400000		
OLIS 10 FI	TTINGS	GFS PALLET - FITTING 628,000		45.000 x 45.000 x 50.000
	0910	801248	20,00 EA	2025142966
		2x3/4 PVC80 Tee (SxSxS)	,	50655969 / 1100
		Commodity Code: 3917400000		55555557 1155
	0920	801131	40,00 EA	2025142966
		1x3/4 PVC80 Tee (SxSxS)	,	50655969 / 1110
		Commodity Code: 3917400000		1110
	0930	801040	25,00 EA	2025142966
		4" PVC80 Tee (SxSxS)		50655969 / 1120
				00000007 1120
		Commodity Code: 391/400000		
	0940	Commodity Code: 3917400000 801030	10,00 EA	2025142966



Page 9/1

--- Packing list - continuation ---

	ckage	Material	Gross Weight(LB)		Dimensions (INH) Your order no
De	liv pos	Description	Qty		Our order / pos
		Commodity Code: 39	17400000		
09	50	801025	20,00	EA	2025142966
		2-1/2" PVC80 Tee (S	(SxS)		50655969 / 1140
		Commodity Code: 39			
09	60	801020	30,00	EA	2025142966
		2" PVC80 Tee (SxSxS	3)		50655969 / 1150
		Commodity Code: 39	17400000		
09	70	9861079	25,00	EA	2025142966
		1/2" x 2" CPVC80 Nip	ple		50655969 / 1160
		Commodity Code: 39			
09	80	853040	5,00	EA	2025142966
		4" PVC80 Blind Flang	e		50655969 / 1170
		Commodity Code: 39			
09	90	853015	5,00	EA	2025142966
		1-1/2" PVC80 Blind F			50655969 / 1180
		Commodity Code: 39			
10	00	801015	90,00	EA	2025142966
,,,		1-1/2" PVC80 Tee (S	•		50655969 / 1200
		Commodity Code: 39			
OLIS 11 FITT	INGS 6	SFS PALLET - FITTING	486.000		45.000 x 45.000 x 46.000
	10	801012	20,00	EA	2025142966
10	, 10	1-1/4" PVC80 Tee (S			50655969 / 1210
		Commodity Code: 39			
10	20	801010	20,00	FA	2025142966
10	20	1" PVC80 Tee (SxSx		_, .	50655969 / 1220
		Commodity Code: 39	•		3333337 12-3
10	30	801007	75,00	FΑ	2025142966
10	100	3/4" PVC80 Tee (SxS			50655969 / 1230
		Commodity Code: 39			000000011200
10	40	801101	175,00	⊏Δ	2025142966
10	740	3/4x1/2 PVC80 Tee (50655969 / 1240
		Commodity Code: 39			00000007 1210
10	50	9857375015	5,00	FΔ	2025142966
10	150		375 Union FKM (SxS)		50655969 / 1270
		Commodity Code: 39			00000007 1210
10	160	9854015	15,00	FΔ	2025142966
10	060	1-1/2" CPVC80 Van-			50655969 / 1290
		Commodity Code: 39			300333037 1230
10	70	9854012	5,00	ΕΛ	2025142966
10	770			LA	50655969 / 1300
		1-1/4" CPVC80 Van-	_ , .		300033037 1000
40	000	Commodity Code: 39		⊏∧	2025142966
10	080	9853040	5,00	⊏ A	50655969 / 1390
		4" CPVC80 Blind Fla	•		20022909 / 1290
40	200	Commodity Code: 39		⊏∧	2025142066
10	90	9853020	10,00	⊏A	2025142966 50655969 / 1400
		2" CPVC80 Blind Fla	nge		2022299 / 140U



Page 10/1

--- Packing list - continuation --- No. 199042779 of 06.10.2025

Coli	Package	Material Gross Weight(LB)			Dimensions (INH) Your order no
	Deliv pos	Description	Qty		Our order / pos
		Commodity Code: 3917400000			
	1100	9853015	5.00	EA	2025142966
		1-1/2" CPVC80 Blind Flange	0,00		50655969 / 1410
		Commodity Code: 3917400000			000000007 1410
	1720		200,00	FΔ	2025142966
		2-1/2" PVC80 Van-Stone Flange (S)	200,00		50655969 / 1020
		Commodity Code: 3917400000			000000007 1020
	1730	898375012	3 00	EA	2025142966
	1700	1-1/4" PVC80 TYPE 375 Union EPDM			50655969 / 0030
		Commodity Code: 3917400000	((X)		30033909 / 0030
	1740	835020	E 00	Γ Λ	2025442000
	1740		5,00	EA	2025142966
		2" PVC80 Female Adapter (SxFPT)			50655969 / 1900
OLIC 40 F	TTINGS O	Commodity Code: 3917400000			45.000 45.000 40.000
COLIS 12 F		FS PALLET - FITTING 527,000			45.000 x 45.000 x 48.000
	1110	9851025	5,00	EA	2025142966
		2-1/2" CPVC80 Flange - One Piece (S	5)		50655969 / 1420
		Commodity Code: 3917400000			
	1120	9851010	5,00	EA	2025142966
		1" CPVC80 Flange - One Piece (S)			50655969 / 1440
		Commodity Code: 3917400000			
	1130	9848020	5,00	EA	2025142966
		2" CPVC80 Cap (T)			50655969 / 1460
		Commodity Code: 3917400000			
	1140	847120	35,00	EA	2025142966
		12" PVC80 Cap (S)	,		50655969 / 1470
		Commodity Code: 3917400000			000000071110
	1150	847030	5,00	FΔ	2025142966
		3" PVC80 Cap (S)	0,00		50655969 / 1480
		Commodity Code: 3917400000			300333037 1400
	1160	9848010	25,00	⊏∧	2025142066
	1100	1" CPVC80 Cap (T)	23,00	Ľ A	2025142966
		- · · ·			50655969 / 1490
	1170	Commodity Code: 3917400000 9847040	40.00	- ^	0005440000
	1170		10,00	EA	2025142966
		4" CPVC80 Cap (S)			50655969 / 1510
	4400	Commodity Code: 3917400000			
	1180	9847030	5,00	ΕA	2025142966
		3" CPVC80 Cap (S)			50655969 / 1520
		Commodity Code: 3917400000			
	1190	9847020	5,00	EA	2025142966
		2" CPVC80 Cap (S)			50655969 / 1530
		Commodity Code: 3917400000			
	1200	839072	50,00	EA	2025142966
		1/2x1/4 PVC80 Redu Bushing (MTxFT	·)		50655969 / 1540
		Commodity Code: 3917400000	•		•
OLIS 13 F	ITTINGS G	FS PALLET - FITTING 602,000			45.000 x 45.000 x 47.000
	1210	9838131	50,00	EA	2025142966
		 	22,00	· ·	2020112000



Page 11/13

--- Packing list - continuation ---

No. 199042779 of 06.10.2025

Coli	Package	Material Gross Weight(LB)	Dimensions (INH) Your order no
	Deliv pos	Description Qty	Our order / pos
		1x3/4 CPVC80 Redu Bushing (SPGxT)	50655969 / 1560
		Commodity Code: 3917400000	
	1220	9837585 2,00 EA	2025142966
		8x6 CPVC80 Redu Bushing (SPGxS)	50655969 / 1570
		Commodity Code: 3917400000	
	1230	9837422 15,00 EA	2025142966
		4x3 CPVC80 Redu Bushing (SPGxS)	50655969 / 1580
		Commodity Code: 3917400000	
	1240	837422 30,00 EA	2025142966
		4x3 PVC80 Redu Bushing (SPGxS)	50655969 / 1600
		Commodity Code: 3917400000	
	1250	837420 25,00 EA	2025142966
		4x2 PVC80 Redu Bushing (SPGxS)	50655969 / 1610
		Commodity Code: 3917400000	
	1260	837339 50,00 EA	2025142966
		3x2-1/2 PVC80 Redu Bushing (SPGxS)	50655969 / 1620
		Commodity Code: 3917400000	
	1270	837337 5,00 EA	2025142966
		3x1-1/2 PVC80 Redu Bushing (SPGxS)	50655969 / 1630
		Commodity Code: 3917400000	0005440000
	1280	9837248 30,00 EA	2025142966
		2x3/4 CPVC80 Redu Bushing (SPGxS)	50655969 / 1640
	4000	Commodity Code: 3917400000	2025442066
	1290	9837247 20,00 EA	2025142966
		2x1/2 CPVC80 Redu Bushing (SPGxS)	50655969 / 1650
	4200	Commodity Code: 3917400000	2025142966
	1300	9837210 25,00 EA	50655969 / 1660
		1-1/2x3/4 CPVC80 Redu Bushing (SPGxS)	50055909 / 1000
	1750	Commodity Code: 3917400000 898375012 2,00 EA	2025142966
	1750	1-1/4" PVC80 TYPE 375 Union EPDM (TxT)	50655969 / 0030
		Commodity Code: 3917400000	300333037 0000
	1760	829030 90,00 EA	2025142966
	1700	3" PVC80 Coupling (SxS)	50655969 / 0600
		Commodity Code: 3917400000	20000007 0000
	1770	9801060 12,00 EA	2025142966
	1770	6" CPVC80 Tee (SxSxS)	50655969 / 0680
		Commodity Code: 3917400000	•
	1780	9857375005 25,00 EA	2025142966
	1,00	1/2" CPVC80 TYPE 375 Union FKM (SxS)	50655969 / 1280
		Commodity Code: 3917400000	
COLIS 1	14 FITTINGS	GFS PALLET - FITTING 582,000	45.000 x 45.000 x 46.000
- .•	1310	9836015 30,00 EA	2025142966
		1-1/2" CPVC80 Male Adapter (SxMT)	50655969 / 1670
		Commodity Code: 3917400000	
	1320	837335 5,00 EA	2025142966



Page 12/13

--- Packing list - continuation --- No. 199042779 of 06.10.2025

Coli	Package	Material Gross	Dimensions (INH)
	Deliv pos	Weight(LB) Description Qty	Your order no Our order / pos
		3x1 PVC80 Redu Bushing (SPGxS)	50655969 / 1680
		Commodity Code: 3917400000	
	1330	837291 10,00 EA	2025142966
		2-1/2x1-1/2 PVC80 Redu Bushing (SPGxS)	50655969 / 1690
		Commodity Code: 3917400000	
	1340	837250 20,00 EA	2025142966
		2x1-1/4 PVC80 Redu Bushing (SPGxS)	50655969 / 1700
		Commodity Code: 3917400000	
	1350	837211 25,00 EA	2025142966
		1-1/2x1 PVC80 Redu Bushing (SPGxS)	50655969 / 1720
		Commodity Code: 3917400000	
	1360	837131 50,00 EA	2025142966
		1x3/4 PVC80 Redu Bushing (SPGxS)	50655969 / 1750
		Commodity Code: 3917400000	
	1370	837130 50,00 EA	2025142966
		1x1/2 PVC80 Redu Bushing (SPGxS)	50655969 / 1760
		Commodity Code: 3917400000	
	1380	9836007 425,00 EA	2025142966
		3/4" CPVC80 Male Adapter (SxMT)	50655969 / 1780
		Commodity Code: 3917400000	
	1390	9835030 10,00 EA	2025142966
		3" CPVC80 Female Adapter (SxFT)	50655969 / 1790
	4.400	Commodity Code: 3917400000	
	1400	9835007 80,00 EA	2025142966
		3/4" CPVC80 Female Adapter (SxFT)	50655969 / 1820
	4040	Commodity Code: 3917400000	
	1610	829247FB 5,00 EA	2025142966
		2x1/2 PVC80 Coupling (SxS) BUSH	50655969 / 2110
	4000	Commodity Code: 3917400000	
	1620	856012 5,00 EA	2025142966
		1-1/4" PVC80 Van-Stone Flange (SPG)	50655969 / 2120
	1620	Commodity Code: 3917400000	0005440000
	1630	837628 6,00 EA	2025142966
		10x8 PVC80 Redu Bushing (SPGxS)	50655969 / 2160
	1640	Commodity Code: 3917400000 847060 126,00 EA	2025442000
	1040	•	2025142966
		6" PVC80 Cap (S) Commodity Code: 3917400000	50655969 / 2180
	1650	9801020 15,00 EA	2025142966
	1000	2" CPVC80 Tee (SxSxS)	50655969 / 2190
		Commodity Code: 3917400000	3003390972190
	1670	856015 5,00 EA	2025142966
	1070	1-1/2" PVC80 Van-Stone Flange (SPG)	50655969 / 0180
		Commodity Code: 3917400000	20022303 / 0100
	1680	836015 20,00 EA	2025142966
	1000	1-1/2" PVC80 Male Adapter (SxMPT)	50655969 / 0480
		1 1/2 1 VOOD IVIAIE AUAPTEI (OXIVIF I)	50055909 / U40U



Page 13/13

--- Packing list - continuation ---

No. 199042779 of 06.10.2025

Coli	Package	Material Gross Weight	:(LB)	Dimensions (INH) Your order no
	Deliv pos	Description	` ´ Qty	Our order / pos
		Commodity Code: 391740000		
	1690	897375007	4,00 EA	2025142966
		3/4" PVC80 TYPE 375 Union	EPDM (SxS)	50655969 / 0790
		Commodity Code: 391740000	00	
	1700	9853060	2,00 EA	2025142966
		6" CPVC80 Blind Flange		50655969 / 1380
		Commodity Code: 391740000	00	
	1710	837249	50,00 EA	2025142966
		2x1 PVC80 Redu Bushing (SI	PGxS)	50655969 / 1710
		Commodity Code: 391740000	00	
COLIS 15	FITTINGS G	FS PALLET - FITTING 541	,000	$45.000 \times 45.000 \times 49.000$
	1410	9835005	150,00 EA	2025142966
		1/2" CPVC80 Female Adapte	r (SxFT)	50655969 / 1830
		Commodity Code: 391740000		
	1420	836025	5,00 EA	2025142966
		2-1/2" PVC80 Male Adapter (SxMPT)	50655969 / 1840
		Commodity Code: 391740000		
	1430	836020	20,00 EA	2025142966
		2" PVC80 Male Adapter (SxM	IPT)	50655969 / 1850
		Commodity Code: 391740000		
	1440	836012	45,00 EA	2025142966
		1-1/4" PVC80 Male Adapter (50655969 / 1860
		Commodity Code: 391740000		
	1450	836010	75,00 EA	2025142966
		1" PVC80 Male Adapter (SxM	<u> </u>	50655969 / 1870
		Commodity Code: 391740000		
	1460	836007	125,00 EA	2025142966
		3/4" PVC80 Male Adapter (S)	-	50655969 / 1880
		Commodity Code: 391740000		
	1470	835025	5,00 EA	2025142966
		2-1/2" PVC80 Female Adapte	·	50655969 / 1890
		Commodity Code: 391740000		
	1480	9829338	10,00 EA	2025142966
		3x2 CPVC80 Coupling (SxS)	,	50655969 / 1950
		Commodity Code: 391740000	00	
	1490	9829131	325,00 EA	2025142966
		1x3/4 CPVC80 Coupling (Sxs		50655969 / 1960
		Commodity Code: 391740000		
	1500	9829080	6,00 EA	2025142966
		8" CPVC80 Coupling (SxS)	- 1	50655969 / 1970
		Commodity Code: 39174000	00	
		Commodity Code. 391740000	JU	

GF Industrial Group Americas 7777 Sloane Drive Little Rock, AR 72206 UNITED STATES OF AMERICA



Packing list

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Page 1/5

No. 198996876 of 05.09.2025 (please always refer to this number)

Responsible Sales organisation: GF Irvine

Sold-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer:

109142

Your tax-id no.:

Shipping type

US:Ground

Terms of delivery:

EXW SEA FREIGHT

*3.1 CERTIFICATES REQUIRED

*3.1 CERTIFICATES REQUIRED

Coli Pa	ackage	Gross weight	Dimensions
	TINGS GFS PALLET - FITTING	315,000	45.000 x 45.000 x 52.000
	TINGS GFS PALLET - FITTING TINGS GFS PALLET - FITTING	321,000 407,000	45.000 x 45.000 x 53.000 45.000 x 45.000 x 56.000

Total weight: Gross

Net

1.043,000 LB 670,699

Total no of colis:

3

Coli Package	e Material	Gross Weight(LB)		Dimensions (INH) Your order no
Deliv po	s Description	Qty		Our order / pos
OLIS 01 FITTINGS	GFS PALLET - FITTING	315,000		45.000 x 45.000 x 52.000
0170	37X004818	2,00	EA	2025142731
	460 Channel Lock P	liers		50652427 / 0200
	Commodity Code: 82	203200000		
0180	37Z000400	4,00	EA	2025142731
	4" Metal Clamp			50652427 / 0210
	Commodity Code: 82	205700000		
0190	526043	10,00	EA	2025142731
	2" Fusion Locking Co	ollar w/Clamp		50652427 / 0220
	Commodity Code: 85			
0210	527338	4,00	EA	2025142731
•	4x3 PPFR Long Turi	Tee Wve (SxSxS)		50652427 / 0250
	Commodity Code: 39	• •		
0220	527337	5,00	EA	2025142731
V22 5	4x2 PPFR Long Turi	n Tee Wve (SxSxS)		50652427 / 0260



Page 2/5

--- Packing list - continuation ---

No. 198996876 of 11.09.2025

Coli	Package	Material Gross Weight(LB)			Dimensions (INH) Your order no
	Deliv pos	Description	Qty		Our order / pos
		Commodity Code: 3917400000			
	0230	527326	5,00	EA	2025142731
		3x1-1/2 PPFR Long Turn Tee Wye (S	xSxS)		50652427 / 0280
		Commodity Code: 3917400000			
	0240	527320	20,00	EA	2025142731
		2x1-1/2 PPFR Long Turn Tee Wye (S:	xSxS)		50652427 / 0290
		Commodity Code: 3917400000	-		
	0250	527302	20,00	EA	2025142731
		2" PPFR Long Turn Tee Wye (SxSxS))		50652427 / 0310
		Commodity Code: 3917400000			
	0260	527301	20,00	EA	2025142731
		1-1/2" PPFR Long Turn Tee Wye (SxS	SxS)		50652427 / 0320
		Commodity Code: 3917400000			
	0270	526453	5,00	EA	2025142731
		3" PPFR 1/4 Bend - Street (SxSPG)			50652427 / 0330
		Commodity Code: 3917400000			
	0940	526326	15,00	EA	2025142731
		3x2 PPFR 45 Wye (SxSxS)			50652427 / 1560
		Commodity Code: 3917400000			
	0950	527026	15,00	EA	2025142731
		3x4 PPFR Pipe Increaser (SxS)			50652427 / 1590
		Commodity Code: 3917400000			
	0960	527025	10,00	EA	2025142731
		2x4 PPFR Pipe Increaser (SxS)			50652427 / 1600
		Commodity Code: 3917400000			
	0970	527024	15,00	EA	2025142731
		2x3 PPFR Pipe Increaser (SxS)			50652427 / 1610
		Commodity Code: 3917400000			
	0980	526767	10,00	EA	2025142731
		6x4 PPFR Reducer Bushing (SPGxS)			50652427 / 1620
		Commodity Code: 3917400000			
	0990	526758	15,00	EA	2025142731
		4x2 PPFR Reducer Bushing (SPGxS)			50652427 / 1630
		Commodity Code: 3917400000			
	1000	526328	10,00	EA	2025142731
		4x2 PPFR 45 Wye (SxSxS)			50652427 / 1660
		Commodity Code: 3917400000			
	1010	526327	10,00	EA	2025142731
		4x3 PPFR 45 Wye (SxSxS)			50652427 / 1670
		Commodity Code: 3917400000			
	1020	526304	15,00	EA	2025142731
		4" PPFR 45 Wye (SxSxS)			50652427 / 1680
		Commodity Code: 3917400000			
	1030	526277	30,00	EA	2025142731
		2" PPFR 1/4 Bend L.S. (SxS)			50652427 / 1710
		Commodity Code: 3917400000			



Page 3/5

--- Packing list - continuation ---

No. 198996876 of 11.09.2025

Coli	Package		Material Gross Weight(LB)			Dimensions (INH) Your order no		
	Deliv pos		Description	Qty		Our order / pos		
	1190		37X009208	1,00	EA	2025142731		
			EN 10204-3.1 Inspectio	n Certificate Fee		50652427 / 2090		
COLIS 02 F	ITTINGS	GFS	PALLET - FITTING	321,000		45.000 x 45.000 x 53.000		
	0290		37Z000097	3,00	EA	2025142731		
			Dow Molykote 111 Lubr Commodity Code: 3917			50652427 / 0350		
	0550		526116A	10,00	⊏∧	2025142731		
	0550		3" PPFR Cleanout Tee		LA	50652427 / 0750		
			Commodity Code: 3917	• • • • • • • • • • • • • • • • • • • •		300324277 0730		
	0610		527701A	40,00	FΔ	2025142731		
	0010		1-1/2" PPFR Cleanout A	-		50652427 / 0890		
			Commodity Code: 3917			000021217 0000		
	0730		526045	10,00	⊏Δ	2025142731		
	0730		4" Fusion Locking Colla		LA	50652427 / 1070		
			Commodity Code: 8544	•		000024217 1010		
	0740		37Z000600	30,00	⊏Δ	2025142731		
	0740		6" Metal Clamp	30,00	LA	50652427 / 1090		
			Commodity Code: 8205	70000		00002-277 1000		
	0790		527702A	50,00	FΔ	2025142731		
	0730		2" PPFR Cleanout Adpl			50652427 / 1180		
			Commodity Code: 3917			0000242171100		
	0800		527081	35,00	⊏Λ	2025142731		
	0600		1-1/2" PPFR Cap (S)	33,00		50652427 / 1190		
			Commodity Code: 3917	400000		3000242171100		
	0810		526874	10,00	FΔ	2025142731		
	0010		4" PPFR Male Adapter		LA	50652427 / 1210		
			Commodity Code: 3917			000021217 1210		
	0820		526762	15,00	EΔ	2025142731		
	0620		3x1-1/2 PPFR Reducer		LA	50652427 / 1260		
			Commodity Code: 3917			000024217 1200		
	0830		526324	15,00	FΔ	2025142731		
	0030		3x1-1/2 PPFR 45 Wye			50652427 / 1320		
			Commodity Code: 3917	•		000024277 1020		
	1040		526254	10,00	FΔ	2025142731		
	1040		4" PPFR 1/4 Bend S.S.	·	LA	50652427 / 1720		
			Commodity Code: 3917			0000212171720		
	1050		526154	12,00	FΔ	2025142731		
	1030		4" PPFR Sanitary Tee (· · · · · · · · · · · · · · · · · · ·	LA	50652427 / 1750		
			Commodity Code: 3917	•		0000242171100		
	1060		526152	30,00	FΔ	2025142731		
	1000		2" PPFR Sanitary Tee (LA	50652427 / 1760		
			Commodity Code: 3917			0000E-121 / 1100		
	1080		527004	285,00	FΔ	2025142731		
	1000		4" PPFR Coupling (SxS			50652427 / 1840		
			Commodity Code: 3917	•		0000212171040		
	1000		527003	300,00	FΔ	2025142731		
	1090		32/003	300,00		2023 1727 3 1		



Page 4/5

--- Packing list - continuation ---

No. 198996876 of 11.09.2025

Coli Packag	ge Material	Gross Weight(LB	 3)		Dimensions (INH) Your order no
Deliv p	os Description	1	Qty		Our order / pos
× 3		oupling (SxS)			50652427 / 1850
4400		Code: 3917400000			
1100	526503		120,00	EA	2025142731
		Bend (SxS)			50652427 / 1870
4440		Code: 3917400000			
1110	526403	ND 1 01 1/0 00	15,00	EA	2025142731
		Bend - Street (SxSP	G)		50652427 / 1880
4400		Code: 3917400000	40.00		
1130	527704A		16,00	EA	2025142731
		eanout Adpt w/Plug (S	SPGxFT)		50652427 / 1950
4440		Code: 3917400000			
1140	526115A		15,00	EA	2025142731
		eanout Tee w/Plug (S	xSxFT)		50652427 / 1990
4400		Code: 3917400000			
1160	526454		5,00	EA	2025142731
		Bend - Street (SxSP	'G)		50652427 / 2030
		Code: 3917400000			
COLIS 03 FITTINGS		TTING 407,000			45.000 x 45.000 x 56.000
0840	527083		20,00	EA	2025142731
	3" PPFR Ca	,			50652427 / 1350
		Code: 3917400000			
0850	526871		50,00	EA	2025142731
		R Male Adapter (SxMF	PT)		50652427 / 1410
		Code: 3917400000			
0860	527022		40,00	EA	2025142731
		R Pipe Increaser (Sx	S)		50652427 / 1440
		Code: 3917400000			9
0870	526153		45,00	EA	2025142731
		nitary Tee (SxSxS)			50652427 / 1450
		Code: 3917400000			
0880	526136		5,00	EA	2025142731
	4x3 PPFR S	anitary Tee (SxSxS)			50652427 / 1470
		Code: 3917400000			
0890	526303		30,00	EA	2025142731
	3" PPFR 45	Wye (SxSxS)			50652427 / 1500
	Commodity	Code: 3917400000			
0900	527001		200,00	EA	2025142731
	1-1/2" PPFR	Coupling (SxS)			50652427 / 1510
	Commodity	Code: 3917400000			
0910	526752		30,00	EA	2025142731
	2x1-1/2 PPF	R Reducer Bushing (SPGxS)		50652427 / 1520
	Commodity	Code: 3917400000	-		
0920	526251		45,00	EA	2025142731
	1-1/2" PPFR	1/4 Bend S.S. (SxS)			50652427 / 1540
		Code: 3917400000			
0930	526151		50,00	EA	2025142731
			•		



Page 5/5

--- Packing list - continuation ---

No. 198996876 of 11.09.2025

Coli	Package		ross	Dimensions (INH) Your order no
	Deliv pos	Description vv	eight(LB) Qty	Our order / pos
-		1-1/2" PPFR Sanitary Te	e (SxSxS)	50652427 / 1550
		Commodity Code: 39174	100000	
	1170	526873	15,00 EA	2025142731
		3" PPFR Male Adapter (SxMPT)	50652427 / 2050
		Commodity Code: 39174		
	1180	527303	10.00 EA	2025142731
		3" PPFR Long Turn Tee	Wye (SxSxS)	50652427 / 2080
		Commodity Code: 39174	• •	

GF Industrial Group Americas
7777 Sloane Drive
Little Rock, AR 72206
UNITED STATES OF AMERICA



Page 1/ Reference: 2102679165 of30.10.2025

Sold-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Customer

109142

Delivery-No.

198996876 Delivery date

30.10.2025

Your PO No.

2025142731

Order-No. Incoterms

Order date 50652427 EXW SEA FREIGHT

04.09.2025

Your Order Date

03.09.2025

Your Pur.Ord. Ship-to Tracking Number

GFC Fuseal Stock Proposal

EBKG14678460

Terms of delivery

US:Ground

EXW From plant SEA FREIGHT

Mode of transport

Terms of payment

NET WITHIN 90 DAYS FROM DATE OF INVOICE

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	37X004818 * 460 Channel Lock Pliers Non cancelable/Non returnable Tariff no.: 8203200000 Origin: US	2 EA			46,41	92,82
20	Tracking No. EBKG14678460 37Z000400 * 4" Metal Clamp Non cancelable/Non returnable Old item no.: FU110 Tariff no.: 8205700000 Origin: US	4 EA			35,70	142,80
	Tracking No. EBKG14678460					

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Reference: 2102679165 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
30	526043 * 2" Fusion Locking Collar w/Clamp Non cancelable/Non returnable Tariff no.: 8544110050 Origin: US	10 EA			6,34	63,40
40	Tracking No. EBKG14678460 527338 4x3 PPFR Long Turn Tee Wye (SxS: Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	4 EA xS)			33,00	132,00
50	Tracking No. EBKG14678460 527337 4x2 PPFR Long Turn Tee Wye (SxSX Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA ×S)			31,66	158,30
60	Tracking No. EBKG14678460 527326 3x1-1/2 PPFR Long Turn Tee Wye (Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA SxSxS)			21,27	106,35
70	Tracking No. EBKG14678460 527320 2x1-1/2 PPFR Long Turn Tee Wye (S Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	20 EA SxSxS)			14,18	283,60
80	Tracking No. EBKG14678460 527302 2" PPFR Long Turn Tee Wye (SxSxS Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	20 EA S)	E		14,95	299,00
90	Tracking No. EBKG14678460 527301 1-1/2" PPFR Long Turn Tee Wye (Sx Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	20 EA «SxS)			11,76	235,20
	Tracking No. EBKG14678460					

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 3/ 9 Reference: 2102679165 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
100	526453 3" PPFR 1/4 Bend - Street (SxSPG Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA)			13,79	68,95
110	Tracking No. EBKG14678460 37Z000097 * Dow Molykote 111 Lubricant - 15 Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	3 EA 60g Tube			39,02	117,06
120	Tracking No. EBKG14678460 526116A * 3" PPFR Cleanout Tee w/Plug (Sx Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10 EA SxFT)			25,34	253,40
130	Tracking No. EBKG14678460 527701A 1 1/2 PPFR Cleanout Adpt w/Plug(Non cancelable/Non returnable Old item no.: 7701A Tariff no.: 3917400000 Origin: US	40 EA SPGxFT)			6,01	240,40
140	Tracking No. EBKG14678460 526045 * 4" Fusion Locking Collar w/Clamp Non cancelable/Non returnable Tariff no.: 8544110050 Origin: US	10 EA			9,03	90,30
150	Tracking No. EBKG14678460 37Z000600 * 6" Metal Clamp Non cancelable/Non returnable Old item no.: FU112 Tariff no.: 8205700000 Origin: US	30 EA			52,79	1.583,70

Tracking No. EBKG14678460

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toli Free (800)854-4090, Fax(714)731-8294



Page 4/ Reference: 2102679165 of30.10.2025

Pos	Code no. Description	Qua	-	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
160	527702A 2 PPFR Cleanout Adpt w/Plug(SPGxF Non cancelable/Non returnable Old item no.: 7702A Tariff no.: 3917400000 Origin: US		EA			7,09	354,50
170	Tracking No. EBKG14678460 527081 1-1/2" PPFR Cap (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	35	EA			5,05	176,75
180	Tracking No. EBKG14678460 526874 4" PPFR Male Adapter (SxMPT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10	EA			18,66	186,60
190	Tracking No. EBKG14678460 526762 3x1-1/2 PPFR Reducer Bushing (SPG Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US		EA			6,76	101,40
200	Tracking No. EBKG14678460 526324 3x1-1/2 PPFR 45 Wye (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15	EA			23,49	352,35
210	Tracking No. EBKG14678460 527083 3" PPFR Cap (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	20	EA			9,72	194,40
220	Tracking No. EBKG14678460 526871 1-1/2" PPFR Male Adapter (SxMPT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	50	EA			4,52	226,00

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 5/ 9 Reference: 2102679165 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
230	Tracking No. EBKG14678460 527022 1-1/2x2 PPFR Pipe Increaser (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	40 EA			8,96	358,40
240	Tracking No. EBKG14678460 526153 3" PPFR Sanitary Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	45 EA			20,88	939,60
250	Tracking No. EBKG14678460 526136 4x3 PPFR Sanitary Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			30,60	153,00
260	Tracking No. EBKG14678460 526303 3" PPFR 45 Wye (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	30 EA			22,35	670,50
270	Tracking No. EBKG14678460 527001 1-1/2" PPFR Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	200 EA			5,62	1.124,00
280	Tracking No. EBKG14678460 526752 2x1-1/2 PPFR Reducer Bushing (SPG Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	30 EA GxS)			6,38	191,40
290	Tracking No. EBKG14678460 526251 1-1/2" PPFR 1/4 Bend Short Sweep Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	45 EA (SxS)			7,09	319,05

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 6/ Reference: 2102679165 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
300	Tracking No. EBKG14678460 526151 1-1/2" PPFR Sanitary Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	50 EA			8,96	448,00
310	Tracking No. EBKG14678460 526326 3x2 PPFR 45 Wye (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			25,34	380,10
320	Tracking No. EBKG14678460 527026 3x4 PPFR Pipe Increaser (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			17,52	262,80
330	Tracking No. EBKG14678460 527025 2x4 PPFR Pipe Increaser (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10 EA			16,79	167,90
340	Tracking No. EBKG14678460 527024 2x3 PPFR Pipe Increaser (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			10,84	162,60
350	Tracking No. EBKG14678460 526767 6x4 PPFR Reducer Bushing (SPGxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10 EA			29,26	292,60
360	Tracking No. EBKG14678460 526758 4x2 PPFR Reducer Bushing (SPGxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			14,95	224,25

 $\label{lem:visit_www_gfps_us} \mbox{ Visit www.gfps/us for our Terms and Conditions.}$

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 7/ 9 Reference: 2102679165 of30.10.2025

Pos		Quai Unit	_	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
370	Tracking No. EBKG14678460 526328 4x2 PPFR 45 Wye (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10	EA			30,07	300,70
380	Tracking No. EBKG14678460 526327 4x3 PPFR 45 Wye (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10	EA			31,66	316,60
390	Tracking No. EBKG14678460 526304 4" PPFR 45 Wye (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15	EA			32,47	487,05
400	Tracking No. EBKG14678460 526277 2" PPFR 1/4 Bend Long Sweep (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US		EA			13,79	413,70
410	Tracking No. EBKG14678460 526254 4" PPFR 1/4 Bend Short Sweep (SxS Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US		EA			24,22	242,20
420	Tracking No. EBKG14678460 526154 4" PPFR Sanitary Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	12	EA			31,38	376,56
430	Tracking No. EBKG14678460 526152 2" PPFR Sanitary Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	30	EA			10,45	313,50

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Reference: 2102679165 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
440	Tracking No. EBKG14678460 527004 4" PPFR Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	285 EA			12,69	3.616,65
450	Tracking No. EBKG14678460 527003 3" PPFR Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	300 EA			8,96	2.688,00
460	Tracking No. EBKG14678460 526503 3" PPFR 1/8 Bend (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	120 EA			15,65	1.878,00
470	Tracking No. EBKG14678460 526403 3" PPFR 1/8 Bend - Street (SxSPG) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			12,51	187,65
480	Tracking No. EBKG14678460 527704A 4 PPFR Cleanout Adpt w/Plug(SPGxl Non cancelable/Non returnable Old item no.: 7704A Tariff no.: 3917400000 Origin: US	16 EA FT)			25,34	405,44
490	Tracking No. EBKG14678460 526115A *2" PPFR Cleanout Tee w/Plug (SxS Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA SxFT)			11,96	179,40

Tracking No. EBKG14678460



Reference: 2102679165 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
500	526454 4" PPFR 1/4 Bend - Street (SxSPG) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			23,49	117,45
510	Tracking No. EBKG14678460 526873 3" PPFR Male Adapter (SxMPT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			8,96	134,40
520	Tracking No. EBKG14678460 527303 3" PPFR Long Turn Tee Wye (SxSxS Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10 EA)			25,34	253,40
530	Tracking No. EBKG14678460 37X009208 EN 10204-3.1 INSPECTION CERTIFIC Non cancelable/Non returnable	1 EA CATE FEE			200,00	200,00
	Tracking No. EBKG14678460					
	Net sales amount					23.264,18
	TOTAL AMOUNT	USD				23.264,18

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com

GF Industrial Group Americas 7777 Sloane Drive Little Rock, AR 72206 UNITED STATES OF AMERICA



Sold-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Bill-to:

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBAI INVESTMENT PARK 1 UAE

Page 1/ 27 Reference: 2102679166 of30.10.2025

Ship-to

GF Corys Piping Systems L.L.C PO Box 2345, Street 60, Community 598 00000 DUBALINVESTMENT PARK 1 UAE

Customer

109142

Delivery-No.

199042779 Delivery date

30.10.2025

Your PO No.

2025142966

Order-No. Incoterms

Order date 50655969 EXW SEA FREIGHT

26.09.2025

Your Order Date

23.09.2025

Tracking Number

Your Pur.Ord. Ship-to GF USA STOCK PROPOSAL -CPVC and PVC

EBKG14678460

Terms of delivery

EXW From plant SEA FREIGHT

Mode of transport

US:Ground

Terms of payment

NET WITHIN 90 DAYS FROM DATE OF INVOICE

GF USA STOCK PROPOSAL -CPVC and PVC SCH80 (Pipe & Fittings)

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
10	9806005 1/2" CPVC80 90 Eli (SxS) Tariff no.: 3917400000 Origin: US	1.250 EA			1,03	1.287,50
20	Tracking No. EBKG14678460 9837292 2-1/2x2 CPVC80 Redu Bushing (Tariff no.: 3917400000	40 EA (SPGxS)			8,50	340,00

Origin: US

Tracking No. EBKG14678460

Visit www.gfps/us for our Terms and Conditions. Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294 Email: IrvineAR@georgfischer.com



Reference: 2102679166 of30.10.2025 Page 2/ 27

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
1730	898375012 1-1/4" PVC80 TYPE 375 Union E Old item no.: 898012 Tariff no.: 3917400000 Origin: US	3 EA PDM (TxT)			9,18	27,54
1750	Tracking No. EBKG14678460 898375012 1-1/4" PVC80 TYPE 375 Union E Old item no.: 898012 Tariff no.: 3917400000 Origin: US	2 EA PDM (TxT)			9,18	18,36
30	Tracking No. EBKG14678460 9837249 2x1 CPVC80 Redu Bushing (SPGx Tariff no.: 3917400000 Origin: US	100 EA S)			6,98	698,00
40	Tracking No. EBKG14678460 829248 2x3/4 PVC80 Coupling (SxS) Old item no.: 829248FB Tariff no.: 3917400000 Origin: US	5 EA			4,49	22,45
50	Tracking No. EBKG14678460 9801337FB *3" X 1-1/2" CPVC80 Red Tee (S Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA SxSxS) BUSH			30,82	154,10
60	Tracking No. EBKG14678460 9829101 3/4x1/2 CPVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	100 EA			2,84	284,00
7 0	Tracking No. EBKG14678460 9868020SS *2" CPVC80-to-316SS Female AD Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	4 EA PT (SxFT)			43,99	175,96
	Tracking No. EBKG14678460					

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 3/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
80	9868015SS * 1-1/2" CPVC80-to-316SS Fema Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA le ADPT(SxFT			37,17	185,85
90	Tracking No. EBKG14678460 9868012SS *1-1/4" CPVC80-to-316SS Fema Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA le ADPT(SxFT			28,73	143,65
100	Tracking No. EBKG14678460 9868007SS * 3/4" CPVC80-to-316SS Female Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	20 EA ADAPT (SxFT			10,23	204,60
110	Tracking No. EBKG14678460 9869007SS * 3/4" CPVC80-to-316SS MALE AND CANCEL NO.: 3917400000 Origin: US	10 EA ADAPTER (SxMT			9,34	93,40
120	Tracking No. EBKG14678460 9868005SS * 1/2" CPVC80-to-316SS Female Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	20 EA ADAPT (SxFT			7,18	143,60
130	Tracking No. EBKG14678460 9832005SS * 1/2" CPVC80-to-316SS 90 Dr Non cancelable/Non returnable Old item no.: 9832005 Tariff no.: 3917400000 Origin: US	10 EA op Ear (SxFT			8,98	89,80
167	Tracking No. EBKG14678460 0 856015 1-1/2" PVC80 Van-Stone Flange Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA (SPG)			4,01	20,05

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 4/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
140	Tracking No. EBKG14678460 801209 1-1/2x1/2 PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			3,93	19,65
150	Tracking No. EBKG14678460 898375015 1-1/2" PVC80 TYPE 375 Union E Non cancelable/Non returnable Old item no.: 898015 Tariff no.: 3917400000 Origin: US	5 EA PDM (TxT)			11,36	56,80
160	Tracking No. EBKG14678460 9856005 1/2" CPVC80 Van-Stone Flange (Stone Concelable/Non returnable Tariff no.: 3917400000 Origin: US	35 EA SPG)			5,33	186,55
170	Tracking No. EBKG14678460 856010 1" PVC80 Van-Stone Flange (SPG Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA s)			3,81	19,05
180	Tracking No. EBKG14678460 856007 3/4" PVC80 Van-Stone Flange (SF Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10 EA PG)			3,42	34,20
190	Tracking No. EBKG14678460 856005 1/2" PVC80 Van-Stone Flange (SF Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA PG)			3,19	15,95
	T 11 N -110 1 10 -1 10 -1					

Tracking No. EBKG14678460



Page 5/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
200	839073 * 1/2x3/8 PVC80 Redu Bushing (Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	100 EA MTxFT)			2,12	212,00
210	Tracking No. EBKG14678460 801292 2-1/2x2 PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	35 EA			6,50	227,50
220	Tracking No. EBKG14678460 897375005 1/2" PVC80 TYPE 375 Union EF Non cancelable/Non returnable Old item no.: 897005 Tariff no.: 3917400000 Origin: US	25 EA PDM (SxS)			2,22	55,50
230	Tracking No. EBKG14678460 9897375007 3/4" CPVC80 TYPE 375 Union I Non cancelable/Non returnable Old item no.: 9897007 Tariff no.: 3917400000 Origin: US	280 EA EPDM (SxS)			5,05	1.414,00
240	Tracking No. EBKG14678460 9853080 8" CPVC80 Blind Flange Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	2 EA			122,31	244,62
250	Tracking No. EBKG14678460 830020 ^2" PVC80 Coupling (TxT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			5,20	26,00

Tracking No. EBKG14678460



Page 6/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
260	9853005 1/2" CPVC80 Blind Flange Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10 EA			6,86	68,60
270	Tracking No. EBKG14678460 853005 1/2" PVC80 Blind Flange Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			4,46	22,30
280	Tracking No. EBKG14678460 837530 6x3 PVC80 Redu Bushing (SPGxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	8 EA			15,65	125,20
290	Tracking No. EBKG14678460 9808015 ^1-1/2" CPVC80 90 Ell (TxT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10 EA			6,97	69,70
300	Tracking No. EBKG14678460 853080 8" PVC80 Blind Flange Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	2 EA			49,54	99,08
310	Tracking No. EBKG14678460 9851040 4" CPVC80 Flange - One Piece (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			39,63	198,15
320	Tracking No. EBKG14678460 9851030 3" CPVC80 Flange - One Piece (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			29,33	146,65
	Tracking No. EBKG14678460					

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 7/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quai Unit	_	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
330	898030 *3" PVC80 Union EPDM (TxT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	1	EA			44,35	44,35
340	Tracking No. EBKG14678460 9853010 1" CPVC80 Blind Flange Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10	EA			9,28	92,80
350	Tracking No. EBKG14678460 801210 1-1/2x3/4 PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15	EA			3,93	58,95
360	Tracking No. EBKG14678460 853060 6" PVC80 Blind Flange Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	2	EA			39,58	79,16
370	Tracking No. EBKG14678460 847100 10" PVC80 Cap (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5	EA			60,34	301,70
380	Tracking No. EBKG14678460 847100 10" PVC80 Cap (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10	EA			60,34	603,40
1680	Tracking No. EBKG14678460 836015 1-1/2" PVC80 Male Adapter (SxMPT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US		EA			3,93	78,60
	T 1: N FD//044070400						

Visit www.gfps/us for our Terms and Conditions.

Tracking No. EBKG14678460

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 8/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
390	9829012 1-1/4" CPVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	75 EA			3,06	229,50
400	Tracking No. EBKG14678460 829251 2x1-1/2 PVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			4,49	22,45
410	Tracking No. EBKG14678460 9805007 ^3/4" CPVC80 Tee (TxTxT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	30 EA			7,72	231,60
420	Tracking No. EBKG14678460 9801249 2x1 CPVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			15,10	226,50
430	Tracking No. EBKG14678460 9801247 2x1/2 CPVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			15,10	226,50
440	Tracking No. EBKG14678460 9801211 1-1/2x1 CPVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			12,68	63,40
450	Tracking No. EBKG14678460 829120 12" PVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			105,62	1.584,30
	Tracking No. EBKG14678460					

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 9/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
460	829100 10" PVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	2 EA			91,65	183,30
470	Tracking No. EBKG14678460 829060 6" PVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	60 EA			19,62	1.177,20
480	Tracking No. EBKG14678460 829040 4" PVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	130 EA			9,12	1.185,60
1760	Tracking No. EBKG14678460 829030 3" PVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	90 EA			7,28	655,20
490	Tracking No. EBKG14678460 829025 2-1/2" PVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			6,34	95,10
500	Tracking No. EBKG14678460 829020 2" PVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	140 EA			2,58	361,20
510	Tracking No. EBKG14678460 829010 1" PVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	100 EA			1,46	146,00
	Tracking No. EBKG14678460					

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Reference: 2102679166 of30.10.2025 Page 10/ 27

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
520	829007 3/4" PVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	40 EA			1,42	56,80
530	Tracking No. EBKG14678460 829005 1/2" PVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	25 EA			1,05	26,25
540	Tracking No. EBKG14678460 9801210 1-1/2x3/4 CPVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			12,68	190,20
1770	Tracking No. EBKG14678460 9801060 6" CPVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	12 EA			71,35	856,20
550	Tracking No. EBKG14678460 817100 10" PVC80 45 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	23 EA			193,26	4.444,98
560	Tracking No. EBKG14678460 817060 6" PVC80 45 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	22 EA			28,31	622,82
	Tracking No. EBKG14678460 817040 4" PVC80 45 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	70 EA			22,48	1.573,60
	Tracking No. EBKG14678460					

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 11/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
580	817025 2-1/2" PVC80 45 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10 EA			10,26	102,60
590	Tracking No. EBKG14678460 817007 3/4" PVC80 45 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	20 EA			1,67	33,40
600	Tracking No. EBKG14678460 817005 1/2" PVC80 45 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	25 EA	*)		1,09	27,25
610	Tracking No. EBKG14678460 897030 * 3" PVC80 Union EPDM (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	135 EA			18,33	2.474,55
620	Tracking No. EBKG14678460 897375020 2" PVC80 TYPE 375 Union EPDM Non cancelable/Non returnable Old item no.: 897020 Tariff no.: 3917400000 Origin: US	18 EA (SxS)			9,85	177,30
630	Tracking No. EBKG14678460 897375015 1-1/2" PVC80 TYPE 375 Union EP Non cancelable/Non returnable Old item no.: 897015	15 EA DM (SxS)			7,26	108,90

Old item no.: 897015 Tariff no.: 3917400000

Origin: US

Tracking No. EBKG14678460



Reference: 2102679166 of30.10.2025 Page 12/ 27

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
640	897375012 1 1/4" PVC80 TYPE 375 Union EPDI Non cancelable/Non returnable Old item no.: 897012 Tariff no.: 3917400000 Origin: US	10 EA M (SxS)			6,42	64,20
650	Tracking No. EBKG14678460 897375007 3/4" PVC80 TYPE 375 Union EPDM Non cancelable/Non returnable Old item no.: 897007 Tariff no.: 3917400000 Origin: US	6 EA (SxS)			2,83	16,98
1690	Tracking No. EBKG14678460 897375007 3/4" PVC80 TYPE 375 Union EPDM Non cancelable/Non returnable Old item no.: 897007 Tariff no.: 3917400000 Origin: US	4 EA (SxS)			2,83	11,32
660	Tracking No. EBKG14678460 870532 6x4 PVC80 45 Wye (SxSxS) 150psi Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	8 EA			73,68	589,44
670	Tracking No. EBKG14678460 870040 4" PVC80 45 Wye (SxSxS) 150psi Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	20 EA			70,79	1.415,80
680	Tracking No. EBKG14678460 806040 4" PVC80 90 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	70 EA			8,28	579,60
	Tracking No. EBKG14678460					



Page 13/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
690	806030 3" PVC80 90 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	65 EA			5,44	353,60
700	Tracking No. EBKG14678460 806025 2-1/2" PVC80 90 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	25 EA			4,84	121,00
710	Tracking No. EBKG14678460 806020 2" PVC80 90 EII (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	180 EA			2,07	372,60
720	Tracking No. EBKG14678460 806015 1-1/2" PVC80 90 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	80 EA			1,71	136,80
730	Tracking No. EBKG14678460 806012 1-1/4" PVC80 90 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	1.390 EA			1,60	2.224,00
740	Tracking No. EBKG14678460 806007 3/4" PVC80 90 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	475 EA			0,74	351,50
750	Tracking No. EBKG14678460 857375007 3/4" PVC80 TYPE 375 Union FKN Non cancelable/Non returnable Old item no.: 857007 Tariff no.: 3917400000	10 EA // (SxS)			2,87	28,70

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com

Origin: US



Page 14/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
760	Tracking No. EBKG14678460 801530FB *6x3 PVC80 Tee (SxSxS)- Bushed Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	2 EA			29,51	59,02
770	Tracking No. EBKG14678460 801422 4x3 PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10 EA			14,77	147,70
780	Tracking No. EBKG14678460 801420 4x2 PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			14,77	221,55
790	Tracking No. EBKG14678460 801338 3x2 PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			9,14	137,10
800	Tracking No. EBKG14678460 9870060 6" CPVC 45 Wye (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	2 EA			138,40	276,80
810	Tracking No. EBKG14678460 854100 10" PVC80 Van-Stone Flange (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	14 EA			37,89	530,46
820	Tracking No. EBKG14678460 854040 4" PVC80 Van-Stone Flange (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	55 EA			11,42	628,10

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 15/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
830	Tracking No. EBKG14678460 854030 3" (DN80) PVC80 Van-Stone Flange Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA ANSI 15			9,03	45,15
1720	Tracking No. EBKG14678460 854025 2-1/2" PVC80 Van-Stone Flange (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	200 EA			8,17	1.634,00
840	Tracking No. EBKG14678460 854020 2" PVC80 Van-Stone Flange (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	50 EA			5,29	264,50
850	Tracking No. EBKG14678460 854020 2" PVC80 Van-Stone Flange (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	2 EA			5,30	10,60
860	Tracking No. EBKG14678460 854015 1-1/2" PVC80 Van-Stone Flange (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	20 EA			3,97	79,40
870	Tracking No. EBKG14678460 854012 1-1/4" PVC80 Van-Stone Flange (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10 EA			3,89	38,90
880	Tracking No. EBKG14678460 854010 1" PVC80 Van-Stone Flange (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	50 EA			3,78	189,00

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 16/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
890	Tracking No. EBKG14678460 854007 3/4" PVC80 Van-Stone Flange (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10 EA			3,40	34,00
900	Tracking No. EBKG14678460 854005 1/2" PVC80 Van-Stone Flange (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10 EA			3,17	31,70
910	Tracking No. EBKG14678460 801248 2x3/4 PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	20 EA			4,99	99,80
920	Tracking No. EBKG14678460 801131 1x3/4 PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	40 EA			1,81	72,40
930	Tracking No. EBKG14678460 801040 4" PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	25 EA			11,60	290,00
940	Tracking No. EBKG14678460 801030 3" PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10 EA			10,02	100,20
950	Tracking No. EBKG14678460 801025 2-1/2" PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	20 EA			8,01	160,20

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 17/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
960	Tracking No. EBKG14678460 801020 2" PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	30 EA			7,37	221,10
970	Tracking No. EBKG14678460 9861079 * 1/2" x 2" CPVC80 Nipple Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	25 EA			1,48	37,00
980	Tracking No. EBKG14678460 853040 4" PVC80 Blind Flange Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			32,57	162,85
990	Tracking No. EBKG14678460 853015 1-1/2" PVC80 Blind Flange Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			8,90	44,50
1000	Tracking No. EBKG14678460) 801015 1-1/2" PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	90 EA			5,89	530,10
1010	Tracking No. EBKG14678460) 801012 1-1/4" PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	20 EA			5,89	117,80
1020	Tracking No. EBKG14678460) 801010 1" PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	20 EA			2,15	43,00

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 18/ 27 Reference: 2102679166 of30.10.2025

Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
Tracking No. EBKG14678460 801007 3/4" PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	75 EA			1,71	128,25
Tracking No. EBKG14678460 801101 3/4x1/2 PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	175 EA			1,26	220,50
Tracking No. EBKG14678460 9857375015 1-1/2" CPVC80 TYPE 375 Union FKN Non cancelable/Non returnable Old item no.: 9857015 Tariff no.: 3917400000 Origin: US	5 EA // (SxS)			12,62	63,10
Tracking No. EBKG14678460 9857375005 1/2" CPVC80 TYPE 375 Union FKM Non cancelable/Non returnable Old item no.: 9857005 Tariff no.: 3917400000 Origin: US	25 EA (SxS)			4,89	122,25
Tracking No. EBKG14678460 9854015 1-1/2" CPVC80 Van-Stone Flange (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			6,98	104,70
Tracking No. EBKG14678460 9854012 1-1/4" CPVC80 Van-Stone Flange (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			6,28	31,40
	Tracking No. EBKG14678460 801007 3/4" PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US Tracking No. EBKG14678460 801101 3/4x1/2 PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US Tracking No. EBKG14678460 9857375015 1-1/2" CPVC80 TYPE 375 Union FKN Non cancelable/Non returnable Old item no.: 9857015 Tariff no.: 3917400000 Origin: US Tracking No. EBKG14678460 9857375005 1/2" CPVC80 TYPE 375 Union FKM Non cancelable/Non returnable Old item no.: 9857005 Tariff no.: 3917400000 Origin: US Tracking No. EBKG14678460 9857375005 1/2" CPVC80 TYPE 375 Union FKM Non cancelable/Non returnable Old item no.: 9857005 Tariff no.: 3917400000 Origin: US Tracking No. EBKG14678460 9854015 1-1/2" CPVC80 Van-Stone Flange (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	Tracking No. EBKG14678460 801007 75 EA 3/4" PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US Tracking No. EBKG14678460 801101 175 EA 3/4x1/2 PVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US Tracking No. EBKG14678460 9857375015 5 EA 1-1/2" CPVC80 TYPE 375 Union FKM (SxS) Non cancelable/Non returnable Old item no.: 9857015 Tariff no.: 3917400000 Origin: US Tracking No. EBKG14678460 9857375005 25 EA 1/2" CPVC80 TYPE 375 Union FKM (SxS) Non cancelable/Non returnable Old item no.: 9857005 Tariff no.: 3917400000 Origin: US Tracking No. EBKG14678460 9857375005 15 EA 1/2" CPVC80 TYPE 375 Union FKM (SxS) Non cancelable/Non returnable Old item no.: 9857005 Tariff no.: 3917400000 Origin: US Tracking No. EBKG14678460 9854015 15 EA 1-1/2" CPVC80 Van-Stone Flange (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US Tracking No. EBKG14678460 9854012 5 EA 1-1/4" CPVC80 Van-Stone Flange (S) Non cancelable/Non returnable Tariff no.: 3917400000	Description	Description	Description

Tracking No. EBKG14678460



Page 19/ 27 Reference: 2102679166 of30.10.2025

Pos		Quai Unit	ntity	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
1700	9853060 6" CPVC80 Blind Flange Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	2	EA			65,94	131,88
1080	Tracking No. EBKG14678460 9853040 4" CPVC80 Blind Flange Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5	EA			39,31	196,55
1090	Tracking No. EBKG14678460 9853020 2" CPVC80 Blind Flange Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10	EA			15,43	154,30
1100	Tracking No. EBKG14678460 9853015 1-1/2" CPVC80 Blind Flange Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5	EA			14,69	73,45
1110	Tracking No. EBKG14678460 9851025 2-1/2" CPVC80 Flange - One Piece (Sono cancelable/Non returnable Tariff no.: 3917400000 Origin: US		EA			28,05	140,25
1120	Tracking No. EBKG14678460 9851010 1" CPVC80 Flange - One Piece (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5	EA			8,25	41,25
1130	Tracking No. EBKG14678460 9848020 ^2" CPVC80 Cap (T) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5	EA			11,47	57,35
	Tracking No. EBKG14678460						

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 20/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Qua Unit	ntity	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
1140	847120 12" PVC80 Cap (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	35	EA			90,56	3.169,60
1150	Tracking No. EBKG14678460 847030 3" PVC80 Cap (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5	EA			10,95	54,75
1160	Tracking No. EBKG14678460 9848010 ^1" CPVC80 Cap (T) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	25	EA			4,36	109,00
1170	Tracking No. EBKG14678460 9847040 4" CPVC80 Cap (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10	EA			18,48	184,80
1180	Tracking No. EBKG14678460 9847030 3" CPVC80 Cap (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5	EA			18,17	90,85
1190	Tracking No. EBKG14678460 9847020 2" CPVC80 Cap (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5	EA			4,93	24,65
	Tracking No. EBKG14678460 839072 *1/2x1/4 PVC80 Redu Bushing Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US		EA			2,12	106,00
	Tracking No. ⊞KG14678460						

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 21/ 27 Reference: 2102679166 of30.10.2025

Pos		Quar Unit	ntity	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
1210	9838131 1x3/4 CPVC80 Redu Bushing (SPGxT Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	50)	EA			1,60	80,00
1220	Tracking No. EBKG14678460 9837585 8x6 CPVC80 Redu Bushing (SPGxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	2	EA			100,39	200,78
1230	Tracking No. EBKG14678460 9837422 4x3 CPVC80 Redu Bushing (SPGxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15	EA			14,31	214,65
1240	Tracking No. EBKG14678460 837422 4x3 PVC80 Redu Bushing (SPGxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	30	EA			11,26	337,80
1250	Tracking No. EBKG14678460 837420 4x2 PVC80 Redu Bushing (SPGxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	25	EA			11,26	281,50
1260	Tracking No. EBKG14678460 837339 3x2-1/2 PVC80 Redu Bushing (SPGxS Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US		EA			8,13	406,50
1270	Tracking No. EBKG14678460 837337 3x1-1/2 PVC80 Redu Bushing (SPGX Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US		EA			8,13	40,65
	Tracking No. EBKG14678460						

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 22/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quan Unit	tity	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
1280	9837248 2x3/4 CPVC80 Redu Bushing (SPGxS Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	30 S)	EA			6,98	209,40
1290	Tracking No. EBKG14678460 9837247 2x1/2 CPVC80 Redu Bushing (SPGxS Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	20 S)	EA			6,98	139,60
1300	Tracking No. EBKG14678460 9837210 1-1/2x3/4 CPVC80 Redu Bushing (SF Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	25 PGxS)	EA			5,41	135,25
1310	Tracking No. EBKG14678460 9836015 1-1/2" CPVC80 Male Adapter (SxMT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	30	EA			5,75	172,50
1320	Tracking No. EBKG14678460 837335 3x1 PVC80 Redu Bushing (SPGxS) Non cancelable/Non returnable Old item no.: 837335FB Tariff no.: 3917400000 Origin: US	5	EA			8,13	40,65
1330	Tracking No. EBKG14678460 837291 2-1/2x1-1/2 PVC80 Redu Bushing (Si Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10 PGxS)				5,13	51,30
1340	Tracking No. EBKG14678460 837250 2x1-1/4 PVC80 Redu Bushing (SPGxS Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	20 S)	EA			2,95	59,00

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 23/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quar Unit	ntity	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
1710	Tracking No. EBKG14678460 837249 2x1 PVC80 Redu Bushing (SPGxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	50	EA			2,95	147,50
1350	Tracking No. EBKG14678460 837211 1-1/2x1 PVC80 Redu Bushing (SPGx8 Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	25 S)	EA			2,07	51,75
1360	Tracking No. EBKG14678460 837131 1x3/4 PVC80 Redu Bushing (SPGxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	50	EA			0,97	48,50
1370	Tracking No. EBKG14678460 837130 1x1/2 PVC80 Redu Bushing (SPGxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	50	EA			0,97	48,50
1380	Tracking No. EBKG14678460 9836007 3/4" CPVC80 Male Adapter (SxMT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	425	EA			1,71	726,75
1390	Tracking No. EBKG14678460 9835030 3" CPVC80 Female Adapter (SxFT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10	EA			34,69	346,90
1400	Tracking No. EBKG14678460 9835007 3/4" CPVC80 Female Adapter (SxFT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US		EA			2,35	188,00

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 24/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Qua Unit	ntity	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
1410	Tracking No. EBKG14678460 9835005 1/2" CPVC80 Female Adapter (SxFT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	150	EA			1,76	264,00
1420	Tracking No. EBKG14678460 836025 2-1/2" PVC80 Male Adapter (SxMPT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US		EA			6,47	32,35
1430	Tracking No. EBKG14678460 836020 2" PVC80 Male Adapter (SxMPT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	20	EA			5,69	113,80
1440	Tracking No. EBKG14678460 836012 1-1/4" PVC80 Male Adapter (SxMPT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US		EA			2,74	123,30
1450	Tracking No. EBKG14678460 836010 1" PVC80 Male Adapter (SxMPT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	75	EA			2,34	175,50
1460	Tracking No. EBKG14678460 836007 3/4" PVC80 Male Adapter (SxMPT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	125	EA			1,36	170,00
1470	Tracking No. EBKG14678460 835025 2-1/2" PVC80 Female Adapter (SxFPT Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US		EA			11,78	58,90

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 25/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
1740	Tracking No. EBKG14678460 835020 2" PVC80 Female Adapter (SxFPT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			7,46	37,30
1480	Tracking No. EBKG14678460 9829338 3x2 CPVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10 EA			28,03	280,30
1490	Tracking No. EBKG14678460 9829131 1x3/4 CPVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	325 EA			4,06	1.319,50
1500	Tracking No. EBKG14678460 9829080 8" CPVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	6 EA			90,45	542,70
1510	Tracking No. EBKG14678460 9829030 3" CPVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	40 EA			10,84	433,60
1520	Tracking No. EBKG14678460 9817030 3" CPVC80 45 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			17,17	85,85
1530	Tracking No. EBKG14678460) 9817025 2-1/2:" CPVC80 45 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			13,36	200,40

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 26/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
1540	Tracking No. EBKG14678460 9817015 1-1/2" CPVC80 45 Ell (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	30 EA			5,83	174,90
1550	Tracking No. EBKG14678460 9817012 1-1/4" CPVC80 45 EI (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	30 EA			5,68	170,40
1560	Tracking No. EBKG14678460 9808010 ^1" CPVC80 90 Ell (TxT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	10 EA			3,36	33,60
1570	Tracking No. EBKG14678460 9807007 3/4" CPVC80 90 Ell (SxT) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	25 EA			3,19	79,75
1580	Tracking No. EBKG14678460 829422 4x3 PVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			20,78	103,90
1590	Tracking No. EBKG14678460 829420FB *4x2 PVC80 Coupling (SxS) BUSH Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			21,03	105,15
	Tracking No. EBKG14678460 829250 2x1-1/4 PVC80 Coupling (SxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			4,49	22,45

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294



Page 27/ 27 Reference: 2102679166 of30.10.2025

Pos	Code no. Description	Quantity Unit	Price /Unit.	Discount Surcharges	Net.Price /Unit	Net value USD
1610	Tracking No. EBKG14678460 829247FB *2x1/2 PVC80 Coupling (SxS) BUSH Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA			4,49	22,45
1620	Tracking No. EBKG14678460 856012 1-1/4" PVC80 Van-Stone Flange (SP Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	5 EA G)			3,93	19,65
1630	Tracking No. EBKG14678460 837628 10x8 PVC80 Redu Bushing (SPGxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	6 EA			89,46	536,76
1640	Tracking No. EBKG14678460 847060 6" PVC80 Cap (S) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	126 EA			45,94	5.788,44
1650	Tracking No. EBKG14678460 9801020 2" CPVC80 Tee (SxSxS) Non cancelable/Non returnable Tariff no.: 3917400000 Origin: US	15 EA			8,09	121,35
1660	Tracking No. EBKG14678460 37X009208 EN 10204-3.1 INSPECTION CERTIFIC Non cancelable/Non returnable	1 EA CATE FEE			200,00	200,00
	Tracking No. EBKG14678460					
	Net sales amount					58.293,15 58.293,15

All prices, discount, and freight terms are subject to change without notice. All prices are Ex Works Seller's factory or authorized warehouse at Seller's discretion. All orders are accepted subject to Seller's price in effect at the time of shipment.

Visit www.gfps/us for our Terms and Conditions.

Georg Fischer LLC, 9271 Jeronimo Road, Irvine, CA 92618-1904 Tel. (714)731-8800, Toll Free (800)854-4090, Fax(714)731-8294

Email: IrvineAR@georgfischer.com

GF Industrial Group Americas 7777 Sloane Drive Little Rock, AR 72206 UNITED STATES OF AMERICA